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Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficultiesin ____ ./ Taeiar (S{‘fﬁ%ﬂ?) w=i | . ?ﬁﬁﬁ_—ﬂg G| %l
1. Vision / ¥

2. Intelligence /Tg’@

3. Social interaction /Wm Tudh

4. Body movement /w'ﬂﬁm

Correct Answer :-

« Social interaction /Hﬂ:l'm s

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/
VY e fazeryur freT & forg U siftes gutdY SueRTeres faftr W e @:

1. Dyslexia/ FERITRTN

2. GDD/SiISISt

3. ADHD / USIT=3]

4. ASD/ TTHS!

Correct Answer :-

+ ASD/ YUHS!

3) Which of the following is not true about the team teaching method? / & g ugfa & av A Pafafea 7 4 P AT q’ﬁ%”

1. Difficulties are faced in maintaining harmony among team members / ¢ & G & 19 JrHoRT ST 7@ T HS13aT BT qET Bl ggdi gl
2. It is cheaper than other methods of teaching in terms of finances / U8 fax1 & Ty & e & o faftrd & gorm & war g1

3. Teachers get better opportunities for optimal utilization of human resources / ATFd TG % gaay ST B ﬁTQ Rrerpt BT aﬁTﬂ AR e %I
4. It is a highly flexible method of teaching in terms of scheduling / T8 THI-MYRU & Ty & Rrem H1uw 3d e Al B

Correct Answer :-

« Itis cheaper than other methods of teaching in terms of finances / 9% o & geu & Rramr & oy faft ot LRI H %I

4) Which of the following elements is there in problem-solving skills?/ ﬁ"}lﬁl’@ﬁ 79 ﬁ’f T m—ﬁm’m Ebsf!d'ﬂ ¥ '\‘I’Wﬁlﬁ %?
1. only the steps to reach the goal / %dd A& TPH qﬁ’?ﬁ & WO

2. only the goal / hdd a&d

3. only the problem / Had JH=

4. all of the above/ SURIG Tt

Correct Answer :-

« all of the above/ ITRTa Tt
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A child thinks that because he wants to have pizza for dinner, his parents must want it too. What type of thinking is this? / Td g LIEGH % f& qﬁ?
T Ia & TH & e fre =g 8, At sud wrar-fuar &) oft ot wifte) 97 5w ver @t w22

1. Meta-cognitive thinking / & IH®D @ACI-HS) faa
2. Egocentric thinking / W&HfEa @RR®) fida

3. Abstract thinking / ijf EGE]

4. Psychotic thinking / AFRIG (AgdIcd) fKiad

Correct Answer :-

« Egocentric thinking / W& fEd Gmaf<®) fid

6) Learners learn best when / ﬁrmeﬁm 3t GRS Jraa %Fﬁ[_

1. they listen to the teacher and obey all classroom rules. / d fRI& B §Td GId ¥ 3R wen & gt et &1 ureE aRa B

2. they understand the lesson and write good notes. / CACLRER] Wﬁ % 3R 3=y :hEH foraa %I

3. they understand the relevance and are motivated to achieve the learning goal. /3 TRl &1 W?ﬁ % 3R AN & 8T BV U B b mﬁﬁﬁ_&ﬁa %[
4. they follow all rules and are quiet in class. / 9 it ot 7 UTeH Ra § SR wem H id Wed €1

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. /3 YTl ) THSId € ST HATH & @ed &l U s & o IRa 81 1

7) The seat of Intelligence in human brain is W ILE) AfeTsH ﬁg@ Ealk: o %I
1. Brainstem / SCH
2. Cerebellum / SRS (TRaTTH)

3. Cerebrum / THTRKTSH (IXsTH)
4. Spinal cord / H¥EUS (WIS Hl8)

Correct Answer :-

. Cerebrum / THRTD @m

8) Which of the following is the best way to increase correct responses and appropriate behavior? /
W wfafwaraii ik Sfera R 1 g & g Fraffea & & oi-ar aad st @wie182

1. Punishment / 8

2. Praise / U

3. Ignorance / SIT-IdT

4. Strictness / T

Correct Answer H

« Praise / U=l

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of exceptional children? /
SRITYRUT S ] A9 Hadh Farel & e o SuaR & fore smadik W 59 faftr o1 Sugi forar srar @2
1. Survey method / deur fafer

2. Case study method / Y S fafy

3. Observation method / feor fafyr

4. Experimental method / TORTI@® fafer
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Correct Answer :-

« Case study method / HY el fafy

10) Which approach believes in teaching reading based on sounds? / taferal & SMUYR TR Uo--U13+ & S 41 @I oy Sear %‘.’
1. Analytical / [ARQIwOTESD

2. Syllabic/ TsE

3. Global / iEd

4. Phonic / BIf®

Correct Answer :-

« Phonic/®IA®

11) According to Thompson, children can identify their own gender by the age of/ YT & SHYNR, T 3 v & foi ﬁuﬁﬁwwﬁw
KL

1. Five years AL
2. Two years /ey

3. Four years / IR T
4. Three years / A ay

Correct Answer :-

» Three years / i af

12) What is the term used to describe a person’s tendency to remember positive rather than negative experiences?/
APRIAD U b T HRIAS T 3@ & forg fadt safery 35t vy &1 aofq B 2 fo ue &1 e fvan simar 82
1. Rehearsal effect / Jafama gy@

2. Retroactive effect / qdeaTtt UHId

3. Lightbulb effect / Agcded UHTT

4. Pollyanna effect / Trefial uuE

Correct Answer :-

+ Pollyanna effect / Ociial GHId

13) What type of memory is sometimes referred to as nondeclarative memory? /
5 yoR 31 Wi B FN-FUR SIS T F T 5 FHET AT 82

1. Autobiographical memory / SR (SfTeTarithde) Wid
2. Factual memory / T Widl

3. Short term memory/ﬁg-av'l?ﬂ:f F{ﬁf

4. Procedural memory / WishaTeTd® F—]ﬁf

Correct Answer :-

« Procedural memory / HehaTeTd Wﬁ

14) An assessment that is carried out throughout the course is called .
9% BT ol [ USUHH & SR fparear e, wearargl
1. Formative assessment / I=HIHD ThTT

2. Summative assessment / GNTTED edid
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3. Diagnostic assessment / J&IA® Jedic

4, Initial assessment / URIN® MTHa

Correct Answer :-

« Formative assessment / XdATHD 3Thd

15) Which of the following is not a form of bullying? / fafafaadad CaE k|| a'c{qwﬁ PITDH =Y =r(ﬁ%?
1. Teasing other children / 31 =l Bl %37”

2. Pushing other children / 3( Tl BT 4B T

3. Mutual exchange of lunches / @ & URTIR® SfGall-agal

4. Insulting other children / w T BT UM AT

Correct Answer :-
+ Mutual exchange of lunches / T 1 URIURD fIdl-dall

16) Which of the following clinical procedures are based in part on classical conditioning?/

Frafafed & 3 o1 W A ufr softea s w sturfa 32
1. Token economy / Gic 3@?\@

2. Two chair techniques / ¢ PR ADBDI

3. Transference/ RIFIRUI

4. Systematic desensitization / AT ﬁ’\ﬂ'ﬂ'l'&ﬁWUT

Correct Answer :-

» Systematic desensitization / ARy ﬁﬁﬂ'@ﬁm

17) Which chromosome is responsible for determining that the child is born male? /

DI AT URE T8 rufiea B & for Swrandt giar @ & s= = Yargen 22
1. Y chromosome /'Y {[URgl
2. C chromosome / C UREA
3. L chromosome / L JURET

4. X chromosome / X TJUIR{A

Correct Answer :-

» Y chromosome /Y JUIRLA

18) If a child has no problems with any schoolwork other than reading and writing, what could he be diagnosed with? / afe farsft g ot m 3R forem
P Serrar fhlt 3y Tod BT Bt DIs TATT T8 8, ot 39 fora) fe e foban i awar 82

1. Learning disorder / 3T fa®bR

2. Communication disorder / TR fAdR
3. Mental retardation / FIFRI® Hedl

4. Intellectual disability / AP srgmar

Correct Answer :-

« Learning disorder / 3TRATH fa®R

19) A child searches for an object where they previously found it even after they know it moved to another location. This approach is seen because of
limitations relating to ./ U ST U Uit g 1 WISl el §, ST61 3 U5 39 gk I R & o4 & 916 W ura &1 78 =iRe J
et Wfarsii & FRT ST ST 2|
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1. Attachment/ 3{IAUD (3HTHT)
2. Egocentrism/ T3 ( Smﬁ;\-rq)

3. Conservation/ TR&UT
4. Object permanence / %] Rjitorc

Correct Answer :-

» Object permanence / %] )| tarcf

20) Who developed a Psychosexual theory of human development from infancy onward? / QARTaTaRAT A AT A &1 T a-rdie Rigia fra
fae i fepam?

1. Erik Erikson / OR® SIdHE
2. Piaget / fOATS!

3. Sigmund Freud / R s
4. Vygotsky / CIEUIRE]

Correct Answer :-

e Sigmund Freud / R s

21) The concept of intelligence is more related to: / difg® YR 39 Sfftre Taftm 2
1. Concrete thinking /q?ﬂmﬁﬁq

2. Intuitive thinking / FgS1 [EGE

3. Rational thinking / THeTd faia=

4. Emotional thinking / HTa-TE® fRid=

Correct Answer :-

« Rational thinking / qHI fefam

22) Rorchach ink blot test consists of / ATk Wr[ﬁ DT Usdl qﬁ&‘I'UT ﬁ"}l’ AT Eﬁ?ﬂ %:
1. 10 black cards and 5 coloured cards10 / STal Ot 3R 5 T U=y

2. 10 black and 10 white cards / 10 BTl 3R 10 Htha Tl

3. 5 black and white cards and 5 coloured cards/ 5 BIel 3R TG U 3IR 5 T T=T

4. 10 multicoloured cards 10/ E@T’ﬂqﬁ

Correct Answer :-

« 5 black and white cards and § coloured cards/ 5 HTA 3R g T 3R 5 T U=

23) \ghen failures are punished during childhood, it leads to WAL mﬁ%ﬁqw%%a&amm% qATE PR A
SIGI

1. Negative reinforcement / THRIHD W
2. Encouragement / m:f
3. Persistence / 30

4. Learned helplessness / 3IEATH faagmar

Correct Answer :-

« Learned helplessness / ST faqran

24) Maturity affects learning because it impacts -/ uftuear irm 21 gyifad St % e 95 for=r ww uvTg SRt %:
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1. Motor skills/ IR® BIRA

2. Readiness/ iRl

3. Cognitive capabilities/ JTTHD i

4. Both motor and cognitive skills/ @Il HICX 3R TIATHD DI

Correct Answer :-

» Both motor and cognitive skills/ T HieR 3R YIFTAS I

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.

Which is the 4'! condition? /

T St Rigia ¥ SaR, TuTdt wisfeiT & frg 4 smazue T &1
ST, SAHROT 3R Yo+ & 3 21l &1

i T e

1, Situation / Ry

2. Attraction / STHYTT

3. Imagination / P eU-l

4, Motivation / JRUI

Correct Answer :-

+ Motivation / RUI

26) Creating positive classroom culture falls under the domain of : / Wﬁwﬁﬁ?ﬁﬁﬁ'ﬂfﬂﬁg & ¥ Sfefa e &:
1. Social need /W HTAYhdl

2. Affective need / HIdTHD HGRGDH dl

3. Psychomotor need /HHIURUN &1 STadehdl

4. Cognitive need /ST S{TAGDHl

Correct Answer :-

« Affective need / HIdTHD HARYDdl

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /ﬁ"}lﬁﬂ'—@ﬁ A G T BT YT e |
BT P (¢ T HRIAD deb WIgd > &4 A aifd o Toar g2

1. Environment problem /Wﬂuw

2. Medical and Psychological Reasons /ﬁm‘:ﬂ ﬁ?mﬁmm

3. Difficulty in writing / [RCE R RS tana ||

4. Lack of Motivation and Interest to put efforts /Hlﬂﬁ@ﬂaef %ﬁmtmrr 3R 3 BT 34T
Correct Answer :-

» Lack of Motivation and Interest to put efforts / UHId S Gl %%@wn Bhiﬁiﬂ S{HId

28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of parenting is known as:/

Wn%m.ﬁmﬁnﬁaﬁwqﬁaﬂ%%ﬁ%aéﬁﬁtﬂaﬁwawmmmﬁ%%qwm%%'lwwa"rﬂ‘dﬁnaﬁﬁmwﬁ'm
IGINH

1. Permissive Parenting / 3G URf
2. Uninvolved Parenting / SrEfera hife
3. Authoritative Parenting / MBS T
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4. Authoritarian Parenting/ Famag) iR

Correct Answer :-

» Authoritarian Parenting/ g iR

29) Studies in human development take into consideration the period from: / AHd feTa o srenuet 59 orafy & e # m%:
1. Conception to adolescence / e § fRiRmER

2. Birth to adolescence / ST U fHRIRTGRIT

3. Birth to death / S & FIRUT

4. Conception to death / MUE g

Correct Answer :-

» Conception to death / TTHTW%W

30) CANCELLED

What is the full form of MBIT?/ THa1STE &} BT quf =0 FaT 87
1. Myers-Briggs test instructions / TRy o ot fAdst

2. Myers-Briggs type of indicator / AR TR Thas

3. Myers-Bricks type of indicator / - UeR Thdd

4. Myers-Bricks test instructions / TR- forery ol e

Correct Answer :-

« Myers-Briggs type of indicator / ARTY-fI UHR Thad

Topic:- General Hindi (L1GH)

1) el Qi A R aw®
e B wraa gRard,
forodt forery <far 3 oot
TSt Y <t Soredt st !
B PRV R

fea sha eRR & w1 oo,
AT Y A TR DT G
4 &1 R forfa e waw |
Jwifera-ft el agen
STt St g e,

SRER TS B A B
frfpRmf & eyt s o« Serew T,
o, 5ie wRT 9 i vt
rerm 3 o, dieft e
¥ F et & Rafta

& ¥E Wi ne @S
e afeal <t wewt
Siferat, fsurg Siwr @t
Tt § S Y1 ot fyaeht
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T F Fal W gv,

Td frva o war wad

IFIFFA A W

T T Ui F1 UgH A IS A a1 U= H IR a5

TH: 51 & P & O G TP 1o § g STelt Bl g & o S onren 82
1. B9 & dig § <o ST 8l

2. AT @ @ 8|

3. 99 3 AR <

4. 9 3 G O A TS IR |

Correct Answer :-

SR ERCRI R SRR

2) Felt Qi A maw®
TS & HITd givarer,
Rt fora T ot feeor
TSt 2 <t Sorelt wiredt
PRV R

fea sha sRr & o1 9o,
T Y e TR FHT g3
Y F1 iR fefe e waw )
Aupifera-ft et agen
St oft 3 # e,

IRER TS BT AR Bt
fepfepforat & =iHTRITeR
Igdt o+ e T,

o, gie w1 i vt
ey 3 o, dieft Ref
161 % ot & frafra
0w wfem wer T
e afeat it west
Siferat, fsumg e @t
foreelt & & S Y et

| HT & Hal R gy,

ot el 51 Bl W

3§ 9 el A gl

T 7T e F) vewH Y IR 9 918 U $1 Sk 9a1gv|
TR: Well W ¥ T 1 il g8 87
1. TR gS MY

2. WA GUUS

3. BTl 1 FEH TR
4. fodferdl & g

Correct Answer :-

. BRach o gEHe 9eR
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3) Felt Qi ¥ g aa®
T B Biad sRar,
forad forerds <fa &t ot
=it Y <t Serelt st
A FRVNTR
feasha sfR & wr aes,
T Y T W DT g
Y F1 R Frefa e waw |
Jwifer.ft el agen
STt it 1 e,

IRER TS B A
fofeTirat § ziummeh
RECIRIEICEICSRIETS
et vt el g,

o0, gRa RT A i Tt
e 3 &, el el
¥ & e | Reafia

& ¥ fem HeR @
T afeat ¥t weat
Sftrt, foumg i @it
fopeelt & 1 &1 Y foreredt
[T F Fedl R G,

Ta frva o wa v
IFIFFAAGA W

T 10 T ) tgee TR U o 9Te U $7 S 9dsul
T; el R W B 3o v o Wik Sare?
1. 75 3t aferat

2. YA TRl

3. Uplcwrd fba

4, frefe <fiam simem=r

Correct Answer :-

« feiq i s

PRV TR

fea sha eRR & ver 9o,
A Y T WGP gl
Y 1 iR ffer o waw )
Jrifera-f Tt axger
STt St g F e,
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SRER S D1 A P

oot § zimmet

It i+ e T,

el iy dieh-dieR,

o0, gla w19 i vt

e o o, Al Heft

161 S et & frafra

& ¥ i weR =
e afeal it weat
Siferat, fsume Siwr @t

el & S S 0t ot

T HT & Fal R gy,

o vl 8 o W

IgSS A AGAWI

T TG TR FY vge A U 9 AT UK &7 Sk 9aTsgl
v TR foafomt f5 el w s frvelt §2
1S Al R

Il R I R

3. WA pEdi

4. ARF NN W

Correct Answer :-
o TS AR

A Y T TR FHT gl
4 &1 iR ffa e waw |
Awifera-ft e ager

ST St A F e,

IR TS B AR Bt
forfesforat & gitamamett
Jeat o e T,
et wRl dren- g,

o, R eRT S i <@
Herm 3 @i, el et
& gt & fafta

& ¥ S wer @
wREwe el |t deat
Siftrar, fisumg s agh
et & S S 30 el
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T F Fal W gv,

T a8 o v

SIS YA AT

T T Ui F1 UgH A IS A a1 U= H IR a5
TH: 7R F N st e dw ewr s o ¥

1. A B el

2. RN VT BIRE

3. T Hd 4R &I e

4, 99 IReA v o Uil A IS W IR g RS §

Correct Answer :-

. O iEE! HEEd 3 Ufedl A i fm R gH @ §

6) Felt Wl A maw®
TS & HITd givarer,
Rt fora T ot feeor
T Y ot Forelt wret ¢
PRV R

fea sha eRR & o1 9o,
T Y e TR FHT g3
Y F1 iR fefe e waw )
Aupifera-ft vt agen
St oft 3 # e,

3REY TS BT AR Bt
fepfepforat & =iHTRITeR
Igdt o+ e T,

o, gie w1 i vt
e ot &, diRi et
161 % ot & frafra
0w wfem wer T
e afeat it west
Siferat, fsumg e @t
foreelt & & S Y et

| HT & Hal R gy,

o fbea f Ga W

3§ 9 el A gl

T 7T g 31 vew Y IR 9 918 U $1 Sk 9a1gv|
T o & R W T W AP T2
1. B9 ufr

2. B

3. BRA IR

4. gfegiea

Correct Answer :-

- gRa3hR
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7) Felt Qi ¥ g aa®
T B Biad sRar,
forodt ey <far 9 fopwot
=it Y <t Serelt st
A FRVNTR
feasha sfR & wr aes,
T Y T W DT g
Y F1 R Frefa e waw |
Jrwifea-ft el agen
STt it 1 e,

IRER TS B A
fofeTirat § ziummeh
RECIRIEICEICSRIETS
et vt el g,

o0, gRa RT A i Tt
e 3 &, el el
11 & et & frafira

& ¥ fem HeR @
T afeat ¥t weat
Sftrt, foumg i @it
fopeelt & 1 &1 Y foreredt
[T F Fedl R G,

Ta frva o wa v
IFIFFAAGA W

T 10 T ) tgee TR U o 9Te U $7 S 9dsul
W 39 Siar § few daw & dicd sravia @2
1. WRE Bg

2. A B

3. gHd 3Bg

4, YIS B¢

Correct Answer :-

PRV TR

fea sha eRR & ver 9o,
A Y T WGP gl
Y 1 iR ffer o waw )
Jrifera-f Tt axger
STt St g F e,
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SRER S D1 A P

oot § zimmet

It i+ e T,

el iy dieh-dieR,

o0, gla w19 i vt

e o o, Al Heft

161 S et & frafra

B Tt Hferar wex = |

e afeal it weat

Siferat, fsume Siwr @t

el & S S 0t ot

T HT & Fal R gy,

o vl 8 o W

IgSS A AGAWI

T TG TR FY vge A U 9 AT UK &7 Sk 9aTsgl
7 T F e pafrarr FrRdiwe @R &
1. diem

2. &R

3. 741

4.THg

Correct Answer :-

A Y T TR FHT gl
4 &1 iR ffa e waw |
Awifera-ft wrh ager

ST St A F e,

IR TS B AR Bt
forfesforat & gitamamett
Jeat o e T,

o, R eRT S i <@
Herm 3 @i, el et
& gt & fafta

& ¥ S wer @
wREwe el |t deat
Siftrar, fisumg s agh
et & S S 3t el
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T F Fal W gv,

Td frva o war wad

IFIFFA A W

T T Ui F1 UgH A IS A a1 U= H IR a5
w: s arfRrat o o & erelt =it @ Qwifa a3 @2

1. A B el

2. IR AR TS H

3. o 3R 9P H

4. Sl IR TEH

Correct Answer :-

. SSRAFH

PRV R

fea sha eRR & o1 9o,
TTHE Y T W FHT gl
Y F1 iR fefe e waw )
Aupifera-ft vt agen
St <t g F e,

IRER TS BT AR Bt
fepfepforat & =iHTRITeR
Igdt o+ e T,

o, gie w1 i vt
ey 3 o, dieft Ref
161 % ot & frafra
0w wfem wer T
e afeat it west
Siferat, fsumg e @t
foreelt & & S Y et

| HT & Hal R gy,

ot el 51 Bl W

3§ 9 el A gl

T 7T g 31 vew Y IR 9 918 U $1 Sk 9a1gv|
w=: frad et war st defta iy e @ &2
LT

PRI

LA P

4, 3R b

Correct Answer :-

. AF
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11) bt A H R qa®
T B Biad sRar,
forodt ey <far 9 fopwot
=it Y <t Serelt st
A FRVNTR
feasha sfR & wr aes,
T Y T R DT G
Y F1 R Frefa e waw |
Jrwifea-ft el agen
STt it 1 e,

SRER S BT A B
fofeTirat § ziummeh
RECIRIEICEICSRIETS
el wr dieh-dieh,

o0, gRa RT A i Tt
e Bt i, diel et
11 & et & frafira

& ¥ fem HeR @
T afeat ¥t weat
St e fiw wgh
fopeelt & 1 &1 Y foreredt
[T F Fedl R G,

Ta frva o wa v
IFIFFAAGA W

T 10 T ) tgee TR U o 9Te U $7 S 9dsul
W SRER SR T aGUT B T aTb 9T 78T 2
1. U™

2. TA BT8R

3. fafesar

4, AT

Correct Answer :-

o B

12) et @l & R O
TS & B givaTer,
forod forer) <fa &t faswot
Tt Y +f Joreft wedt ¢
PRV TR

fea sha eRR & ver 9o,
A Y T WGP gl
Y 1 iR ffer o waw )
Jrifera-f Tt axger
STt St g F e,
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SRER S D1 A P

oot § zimmet

It i+ e T,

o0, gla w19 i vt

“aw ot wfa, ddt i

161 S et & frafra

B Tt Hferar wex = |

e afeal it weat

Siferat, fsume Siwr @t

el € S S 0t ot

T HT & Fal R gy,

o vl 8 o W

IgSS A AGAWI

T TG TR FY vge A U 9 AT UK &7 Sk 9aTsgl
T o1 Gl B (v auandl § o fra i s1 ym g g?
1. I BT

2. TR D T

3, SR ot A =il o ot et fean &1

4. ST I BT

Correct Answer :-

. SR ot 9 =ic 1 o fomT femn &

13) CANCELLED

Helt Dl o @ aw®
TS B S givaTet,
fRorad forerdy =fa ot faswot
T Y < Fredt et !
PRV TR

e efva sRr & wer o,
TAHE Y T W FHT g
4 &1 R Forfa e waw |
it et agen
STt St A W e,

SRER TS B G Bt
ol fnl § =m=met
gt i e T,

o0, gRa wRT 9 i T
e 3 @i, dreft e
1 1 & et & feafira

& el i weR TS
wawe el <t aest
S, fyume diwr @t
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fpelt € S S 9t ot

[T Fal R g,

Ta frea g war v

I I8 el 9 gell W

T 71T veri= ®) wg@s R g o are WRA 61 IaR 9a1sgl
TH: 3 F U & eTelt Tidt iR O F A A ag e g
1L RIS

2. 9578 SIferdl ¥

LU

4. Aol 9

Correct Answer :-

. HORAr Y

14) CANCELLED

Helt @il d X A

TN & Hd giarer,
forad forerdy <fa ot fawot
7l oY < Foredt et
frRFRVNTFR

few sha eRr & o1 9o,
AT Y T R BT gl
4 1 iR fefe e waw )
JAwifera-ft Tt ager
Sl <t g F e,

SRER TS BT AR Bt
forfefomt § <ivmmeR
It iR e T,

o, gied R i 7
e 3t wfa, dieft Reft
181 % ot & frafra

& et e wex @S
e afeal ¥t wewt
Siferat, fsurg e @t
foreelt & &1 ST Y et

T & Fal R G,

o fbea g g v
ESESETEECIN]
w7 et F) vew Y IR 9 918 U™ $1 Sk 9a1gu|
T TH & SR P GG A U T 3R A 22
1. HIeehdl Igd

2. eyl

3, TSR

4. yra=Tguf
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Correct Answer :-

. TS

15) CANCELLED

el Qe d ge aa®d

T B B sRar,
foradY vy <fa 95t fwot
|t o <t Sorelt wmeft
A FRVTER

o sia FRR & e g,
TR Y T TR T Gl
T4 F1 i frefa o waw
Jifera-ft el agen
STt i 1 A e,

3REY TS DI HIA B
fofafirat § =im=meh
RECIRIEICRICSRIETS

o0, gRa T i 7
Hrerm 3t @i, dieft el
I ¥ & et & Rafta
ga v sfea aer @l
g et <t weat
Siferat, foumg fia @t
foreet & S S 9 forarcht
A& Fal R G,

Td fbea o wa wad
ESESECEECIR]
w7 verizr ) veHR R IR WM 916 WA 1 Sk a1zt
T IR B B HIGHaT & B Aaare 8177 82
LA

2. gIRa

3. feTgd

4. B

Correct Answer :-

. HIA

16) =it IuTe BT SWAT B IuHET Wt IOR & UTHGR 9 STaT 81 9 S 6t §iT Y it oft wvueht &1 arfRres 7Y 8| oigt 9 SuMiea &
SRIPR BT TaTd € ot Syt ot fRufd ga-iia € o6t sl | sao! augm & i 31 34 PHER BT IeE0l & T@d & it B aoi diadT 8 91 98 BH st
S e W R 918 B 21 SIGTR RI3TE 9 a1 e Arer § frairae o agg 91 61 9914 €1 $© aul uge fiemad) wwal 3o A e areh giedt e &t
dardt smue arg gRft Al s wft faselt greR @ Rema o= 9t fRarea ot §rft ot aga & smus! SuT gafaer & Samn ust ghmi afg oms saft g7 &
WHR Foran N o STast wat i 1 ¢ | e ek @m §R Bt sargrer i wfear B €1 wet 9w Y 8 A Rrer aren @ off wfean st @1 g 81 uRa
¥ firdTae, FTAENRY, SHRER], FH qoH, S Pt R WRTIE 81 1960 F SF T HRA § STHIHT IS IF §¢ A1 1970 F I 9% SUHIET ST
Faa efidwd ferem ok Yex= T aw & Wit 411 Al g1e & qul & Iuiiear Wel @1 wen § Ioht & 3o amr g

fasparsii ok Jar werarsi & @il § ga-t siftie srigh 4t fs Suvitedrel & U Sral SmarTet o & Ryar 3R BIg IRdT =181 T 4T &F a6l & |9 wud $ 91g
WHR B gHB] WX A1 & Rl T1fiia g1 ver 3k 3wt ufvurfa & w0 § 1986 § drogar Meew Yo (HIWRT) HY ar faar Tl ge Iutitedr &) i garg &
TR # & TR TR BT SRR Ear 81 3 T ST 8 ol Tt Sare & 3o W syl 3R geel & T & SRt 341 Siard a9 €1 gl gEen & Syt
w1 {5l oft Faure ot TieR & ford SR fiofa o= & weg frerd 21 ot oft Sourg & 39 W siftrean gewr gea forgm ot sifvard giar 21 afe i gormer
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wHIRY & 3ifire arel Bear & oY Suiar Suw! Ribrad # a@ar 21 Te e @ fifie e § @ g o1 sifter gar 81 w1 o} feshar Faa we & wis
U3 TEY B WHdT 81 I YA UEH F1 $ fAwey a1 g1 30 ARPGR HY AiFuieh T & fars a1 S F o ary fsar smar g

SR 8 T T B UgHe TR g T U= BT Sk IaT3u|

T IUHIGTSHT P U T ST P SeTal SR BIS IT T8} an ur?
1. 3OS

2. 3T g8l

3. 5T AT Tl

4. 3T SHTaTS

Correct Answer :-

o UAT STaTST

17) {3t SUTe &1 STAT BYP IuHET W IR & HIHER o SraT 21 afe Susier et €ift oY foelt +ft wweht 1 aiffiea 1Y g1m| wigt a Susiear &
SRS BT T § dl SUiiaar 1 Rl g €t ot Wil | 3us! Tuge & ol 377 39 gHHER BT ISTE0 & AFd & ol B goi diadT & 91 98 HH- it
ST U TR IS 918 PRl &1 TUTER fYoTs 39+ a1d $=d |ie § firarae o dgg 91 901 99 ¢ 1 $9 991 ygd fHenad! Wt da Q Haq ardt giwd =9 #t
Hurdt smut arg gRt afg s wft frelt g@Ter A Riema w37 Bt fwed o g1t dt 9ed & syt IuwT gfagr & Saen usT g Al oea Wt 3 |
T a1 ghm ot smue uan g i 39 A e ara @@ ¥R 3t surgrer S afean 81t &1 gt 9o 3 8 & R arar @ o witar siferdt @1 @ar 81 uRa
W fireiae, SroTaIRl, SHTER, H9 To, i B W WOlT € 21 1960 F gud A YR § SUHiaT Sfigha T gU A1 1970 F GU® db SUHIGT iigia
Faa snféepd forem 3R wexi+t e ae € iftra ur) A= grer & ol § Sudiear GweHi Bt G | delt | IuTe o g

fasparail ok Jar werars & i & ga-t aiftrew erRigid it fF IusitadTell & URT Sl SmaTe ST & Ryar iR IS IR 18T T o471 FF I8 & G F 919
PR P 3TH] T A & o TIfra g1 vsT iR 3991 ufvuifa & 0 & 1986 # Hogrr WieaRT Tae (HIURT) $I AN fhaT 71| T SN B fhdl Saie &
AR # 8 ST U @1 ReR gar 81 o T B & o fealt Sarg & Yo W el 3R gRan b o & Weert &A1 Sifard g €1 9d) gEen @ Suvier
o1 frxdt oft Saure ot witeR & Rl 3 fAofa @ & weq frerd 81 ot oft Seug & 89 W siftroman gew gea foram oft sifvrard gtar 21 afe #1g gomer
THaR & 3ifiren aret Bar & oY SuHiTar SuS! R % godl 21 TP Iuiedr @) i el § @ g7 @1 aifter gar ¢ wig o} fshar $ad te & wis
=1 &Y B WHal B 1 I 3T UEP Bl T [abed 37 il | 590 SRR Y Hikiuicl 28 & fQeme s S & wivd oy far sien g1

SR &3 T TR B UeHR - U Y U= T Swik 9a13¢|
= foremad) W Aw @ S-S et d

1@

2. STt

3. BINR

4. HaREm

Correct Answer :-

. gl

18) fbeli Iure o1 SEwTT Hea SuHiTn it AR # HRiGR & ST 71 afe Iusiear 78 g1 o fhedt ot s @ arf@re =€ € oigt a9 Suie &
SHfRIPTR BT TaTd € |t STUITT Bt fRUfS ga-iia € ot sl | gae! augm & i 310 39 HHER BT ISEUl & TEd & i BH goi diadl 8 91 a8 BA St
ST % W S a1 B 21 SRR feTs S99 ardt o=l Ara # firdrae o3 dgg a1 901 99 §1 59 9l vgd framadt aet a9 A e aredt giwht am
AR MUY A1g gt afe smum waft fohelt gopeR & Rrerad &= ot feurwa o ghll o 9ga & STuS! IUHT gdeR & ST UsT ghn | af omus dft e &
THR foraT §RI oY STUhT Ut 1 % 3 A e ara @m 119 &t warerar i wfear @1 €1 ust 9w & U & s aren @ o wfea sifedt &1 At 81 WRa
Y fhreiTae, BIAENRT, SHRGR, $ gu, 1S B R WRT 6 81 1960 F %1 J YR § ST i T2 5Y 41 1970 F 2 T SUHIST g
Faq i ferad SR yeRl- o b & Wi 411 A g1a F aut & Iuviear Aire-l @ we & I & IoTd ST §l

frsparait ok Tar werarei & i § ga-t aiftre eRigiY ot fF IusitadTell U o=l SmaTe Io™ & RaT iR g IR TET T4 471 FE I F 7 G F 919
PR B THST W A7 F o TR g1 veT iR 5373 uRufe & =0 § 1986 T oguR MReN Ve ($1WRT) B ar 541 111 T Iusitet o1 {6t Sang &
TR T & TSR U BT SRR grar 81 3@ T B & o) [t Saure & 3 W sraydl 3R geen & T § IHaRY 31 Sfard g €1 gt g § Susiter
B {5t ot TauTe &t Witea & ol 3fera fAvfa a & wee firadt #1 fdt oft Seue & 8o W siftrean Qe gwa o ot aifrard giar 21 afe #ig gorer
THIRM F 3ifire =l Har § |t STl SHS! Rierad B Thdl § 1 U Sukiedr ot Al fdeel & @ 7o &1 ifirer gar 81 ®1S o} fathar Saw te & wis
U &Y BT THaT T 1 S U TED I S [abeq &1 1T | 5 ARIPR B WHITel T8 & fRYaTe a7 S & wivd oy fvar s g1

SR A T = P IgHT A I T WA $T I« 9zl
7 IS o fathar 1 Fad U € U A8 R GHdr?

1. 991

2. 918

3. 9e0

4, MM

Correct Answer :-
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19) {5t IS BT STHATT BIP IuHIET Wt TR F HTHGR o ST 21 afe Susier et €ift oY et oft pveht 1 aifres 1Y g1 gt o Susiear &
SIRIBR FT HaTd & o Sugar o AT gg-a & ¢ St 39! 9ugE & 0l 317 3§ gHHER BT 3ST6RY & AHd ¢ Sl BH Io- diadT & a1 98 AT oY
T T WS 918 PR 1 TAGRR FIoTs 397 a1 Hed Al | Fireiiae o dgg 91 901 9913 § 1 $O a1 Uga iemad! T3a! aa & e arel gicdt - &t
ARt s a1 g1t afe e Baft faseft goeR A Riera o= #it feurwa o ehll ot gea A smuw! SuwT gafaeR € ST usT ghm | afg A wft R
AHR Fran BN o STUs) ua i % 2 A e e @ §R Bt sargrer A wfear €1 €1 uet 9w Y T A Rrer aren @ of wfear siedt @1 g 81 uRa
W frarae, SroERY, SRR, BH 7o, i1fd B R R IE 21 1960 & 39F A YR § TS Siicier 19 5T A1 1970 & I 7@ SUNITT gt
Faa Nfésa Rea AR e T a6 § @fa o411 AfF= gra & aul § Susiedr GreH) Y Ton § I & o smr |

fasparail ok JaT werarsi @ @ & ga-t arfte g A i Sweitedrai & Ui St AT I3 F Ryar 3R FIE IRaT 16T 7241 UT1 FS aul b A9 HUY F 9Ig
IWHR DI gHB] W A4 & ol T g1 veT 3R 39t uivura & w0 § 1986 F thogae Weew Uae (SIURT) B aF a1 71| T Iutiledr ©) 5l Sag &
TR F WE STFPR UA &1 ARG R giar 81 3| TR B 8 il fbell Iwure & U W saydl $iv gren & ar § SHar &1 sifvard a9 81 98l aen @ Susitean
B! foxlt 1t Saure ot wteR & ford SR fiofa A & weq et 21 et oft Sourg & S W siftrean gewr geu forem aft aifvard giar 21 afe o1 gorer
THAR & 3iftren aret Bear & o SuHITr SuPt R B Godr g1 TP Iudiiar @ fafis el # @ o @1 iR gar ¢ wig o} fshar $ad te € wis
U &) BT TPHaT 21 IV 3T UEP B! S fabeq 37§ 1 59 ARPR o Wi 3 & fFare .3 S & ofd oy fFar s g1

SR fod T TR B TgH R I T U= 1 S«ik Ia13¢]

W TG BT ARBR 3R GaT BT SRR S8 Suiter & fReR! @ fbd rH & qed any fear s @2
1. JUHTERIT TREUT

2. fopfoeer &if

3. HHIU ¢S

4. U Al

Correct Answer :-

. T e

20) {3l IauTe ®1 3T FXP IUHIET W TR F YrfieR a4 SIrar @1 afe Susiear Tt g1 < fredt off vt &1 aiffrea =€) €1 wIet 9@ Suvlen &
SRIPR BT Hard § df Suwiaar 31 IR ga-fia & o sl | sae! gusm & Rl 31y 37 gHMeR BT IS0 @ Yod § off BH o diadT 8 91 98 SH ot
3T U W IS 918 el 81 TIekR 6Ts Sum a1d o= Are § frarae ovd dgg a1 901 914 €1 $ a9 ved fremad! wRat aa J Haq ardt giwd am &t
durdt smue arg gRft afe s waft faseft goreR @ Rema s 3t ftared ot §rft d aga & snus! SueT gaiagR &t Samr ust ghmi afg s saft g7 &
WHR foraT N At STast wat i 1% ¢ | e ek @m 6 Bt sararer il wfean B €1 wet 9w Y 8 A Rrer aren @ o wfear st @1 g 81 Uk
¥ fireiTae, STATESEY, STARER, $9 g6, g & R WRT I 21 1960 F &6 A YR § SUHIEET SHigie T3 8¢ A1 1970 F U6 I IUHIET Sigra
Had fdPpd forEa iR yei-t @ & & Wi uT) A6 g1 & aul A SuHiear Gre-l Bt Fen § Ish & o gl

fasparail 3R Jar werarsit & @i ¥ gaeit aiftre sragfd At fb guviiarsit & urT st simarst I8 & Riar ok B wvar 7Y @ 4T &% aul & |9 Wl b arg
WHR B gHB W A1 & R Tl g1 ver SR 393! ulkufa & w0 d 1986 § drogar Mew Yo (HIWRT) B ar faar a1 ge Iuvitedr &) il Sarg &
TR UE TR UA BT AReR g 21 3 38 B © il fbell 3wre & U W faudl 3R TRaf & R § Seart &1 afvard sra 8 1 gl e & Susiter
w1 fxlt ot Saure ot wien & ford S fAfa o= & wag e 21 ot oft Serg & B9 W siftrean gewr geu forgm ot sifvard giar 81 1t o1 gorer
THARY & aif¥re aret Bar & oY ST 3P RrpTad % GHhar &1 TP Il B i e § @ 3o o7 fteR gt g1 w18 o} fashar Fad we § ais
=T Y B2 WPHaT £ 1 S U UeP &I 3 [abeq 1 Bl 39 ARPR B Wl T8 & RPare a7 S & wid oy far sran g1

FHUR 30 g TRriE B uge? HR U ¢ uR a1 SwR eaqisy|
T HogIR WM Vo (HIURT) FY 9 an], foar

1. 1986

2. 1999

3. 1993

4. 1990

Correct Answer :-

« 1986

21) forelt Saure o1 ST e Iyt oft aeR & yrieR o wiTar 71 af Iudiear T8 g1 @ fft O s @ siftra T8 S wiet 9w swite &
SRIPR I FaTd € ot ST #1 R ga-iia € et sl | 3ae! augm & i 3y 39 gHMeR BT ISEUl & Yod & il BH ol diadT @ 91 98 BF St
3T 3% W S a1 B 1 TEeR fireTs Su ardt sl A # frdmae o agg a1 99T a9 §1 50 9l vgd framadt aet aa § hem ardt gl A @
A st arg gt afe oM T fslt geTIeR @ e F37 7t feured ot ghft @ 9eq § Ut SUeT gideR € ST UST 8RNI AR} s St g &
TqER ForaT § at STU) vt §1 i 3 A e ara @ 9 9t srerer I wfear @1 €1 wet 9o Y U A frer aren @ of wfean st o1 et 81 Wk
Y fireiTae, SIAEIRT, SHIER, $ ae, i B R WHRT € 21 1960 F o6 A YRd § Susiiear e I3 g€ A1 1970 F U6 dF SUHIET g
Fad enféepa foram 3R wexl+t e 9% € it U1 AfF gra & aul & Iusiiear Trs-l #1 T & Ae | IV M gl

frpareii ok Tar werarsi @ @Rl § ga-t siltre sRigl &t fr Suvitedrell & U oraeh Sirarel I3 & Ryar 3R B =T el 7= 4T $S a6l & od GuY b 4G
WHR DY gD W A F o TR 41 w1 iR 53t ulkurar & 0 § 1986 F hogwe Meew Vo (HIWRT) B ar fbar 11| T Iusitedr o il Sarg &
IR TE TAPR T FT SAfBR a1 @1 3 T B § i {5l e & U W @yl ok Re & aR ¥ SRt &1 ifard sra & 1 9t TEen & Iusiten
B! {5l ft Faure At Tt & ford 3R fiofa a7 # wee fradt 21 fadt oft seure & S0 W aiftrean gewr g forem oft aiffrard gar 21 aft i gormer
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wHIRY & 3ifire arel Bear & oY Suiar Suw! Ribrad # a@ar 21 Te e @ fifie e § @ g o1 sifter gar 81 w1 o} feshar Faa we & wis
U3 TEY B WHdT 81 I YA UEH F1 $ fAwey a1 g1 30 ARPGR HY AiFuieh T & fars a1 S F o ary fsar smar g

SR 8 T T B UgHe TR g T U= BT Sk IaT3u|
TH: G JuHTET T 1 At DU BT T 8T 332

1. faeRor

2. 3T

3. ufETe

4. GBI

Correct Answer :-

. a

22) i Iaure &1 3T P IuHIT W TeR § WiieR o Srar 21 afe SuHiear = g1 ot fopeft ot vaeit &1 i =€) €1 ol d Suvie &
SRS BT T § dl SUiiaar 1 Rl g €t ot Wil | 3us! Tuge & ol 377 39 gHHER BT ISTE0 & AFd & ol B goi diadT & 91 98 HH- it
ST U TR IS 918 PRl &1 TUTER fYoTs 39+ a1d $=d |ie § firarae o dgg 91 901 99 ¢ 1 $9 991 ygd fHenad! Wt da Q Haq ardt giwd =9 #t
Hurdt smut arg gRt afg s wft frelt g@Ter A Riema w37 Bt fwed o g1t dt 9ed & syt IuwT gfagr & Saen usT g Al oea Wt 3 |
T a1 ghm ot smue uan g i 39 A e ara @@ ¥R 3t surgrer S afean 81t &1 gt 9o 3 8 & R arar @ o witar siferdt @1 @ar 81 uRa
W fireiae, SroTaIRl, SHTER, H9 To, i B W WOlT € 21 1960 F gud A YR § SUHiaT Sfigha T gU A1 1970 F GU® db SUHIGT iigia
Faa snféepd forem 3R wexi+t e ae € iftra ur) A= grer & ol § Sudiear GweHi Bt G | delt | IuTe o g

fasparail ok Jar werars & i & ga-t aiftrew erRigid it fF IusitadTell & URT Sl SmaTe ST & Ryar iR IS IR 18T T o471 FF I8 & G F 919
PR P 3TH] T A & o TIfra g1 vsT iR 3991 ufvuifa & 0 & 1986 # Hogrr WieaRT Tae (HIURT) $I AN fhaT 71| T SN B fhdl Saie &
AR # 8 ST U @1 ReR gar 81 o T B & o fealt Sarg & Yo W el 3R gRan b o & Weert &A1 Sifard g €1 9d) gEen @ Suvier
o1 frxdt oft Saure ot witeR & Rl 3 fAofa @ & weq frerd 81 ot oft Seug & 89 W siftroman gew gea foram oft sifvrard gtar 21 afe #1g gomer
THaR & 3ifiren aret Bar & oY SuHiTar SuS! R % godl 21 TP Iuiedr @) i el § @ g7 @1 aifter gar ¢ wig o} fshar $ad te & wis
=1 &Y B WHal B 1 I 3T UEP Bl T [abed 37 il | 590 SRR Y Hikiuicl 28 & fQeme s S & wivd oy far sien g1

SR &3 T TR B UeHR - U Y U= T Swik 9a13¢|
w: et &Y 3o wew) B w g A §

1. 9%

2. fawey

3. 3dIg

4.9

Correct Answer :-

23) el Seure @1 SRHTE BYP STHIET Wt IR # YITHGR & ST 21 afe Suitear 78 g1 & Tt ot vasit o @i =1t €1 oigt oo Suvilean &
SHfRIPTR BT TaTd € |t STUITT Bt fRUfS ga-iia € ot sl | gae! augm & i 310 39 HHER BT ISEUl & TEd & i BH goi diadl 8 91 a8 BA St
ST % W S a1 B 21 SRR feTs S99 ardt o=l Ara # firdrae o3 dgg a1 901 99 §1 59 9l vgd framadt aet a9 A e aredt giwht am
AR MUY A1g gt afe smum waft fohelt gopeR & Rrerad &= ot feurwa o ghll o 9ga & STuS! IUHT gdeR & ST UsT ghn | af omus dft e &
THR foraT §RI oY STUhT Ut 1 % 3 A e ara @m 119 &t warerar i wfear @1 €1 ust 9w & U & s aren @ o wfea sifedt &1 At 81 WRa
Y fhreiTae, BIAENRT, SHRGR, $ gu, 1S B R WRT 6 81 1960 F %1 J YR § ST i T2 5Y 41 1970 F 2 T SUHIST g
Faq i ferad SR yeRl- o b & Wi 411 A g1a F aut & Iuviear Aire-l @ we & I & IoTd ST §l

frsparait ok Tar werarei & i § ga-t aiftre eRigiY ot fF IusitadTell U o=l SmaTe Io™ & RaT iR g IR TET T4 471 FE I F 7 G F 919
PR B THST W A7 F o TR g1 veT iR 5373 uRufe & =0 § 1986 T oguR MReN Ve ($1WRT) B ar 541 111 T Iusitet o1 {6t Sang &
TR T & TSR U BT SRR grar 81 3@ T B & o) [t Saure & 3 W sraydl 3R geen & T § IHaRY 31 Sfard g €1 gt g § Susiter
B {5t ot TauTe &t Witea & ol 3fera fAvfa a & wee firadt #1 fdt oft Seue & 8o W siftrean Qe gwa o ot aifrard giar 21 afe #ig gorer
THIRM F 3ifire =l Har § |t STl SHS! Rierad B Thdl § 1 U Sukiedr ot Al fdeel & @ 7o &1 ifirer gar 81 ®1S o} fathar Saw te & wis
U &Y BT THaT T 1 S U TED I S [abeq &1 1T | 5 ARIPR B WHITel T8 & fRYaTe a7 S & wivd oy fvar s g1

SR A T T Y gee? R O T U= BT Sk Tt
w=: AFRPRI & Ae | URdTT Suiaarsi 3 fRufy 3t 82

1. ToIgd
2. e

3. 3991
4. U5

Correct Answer :-
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. T

24) & IaTe T WA HP ITHIT W TER F UTfieR o S 21 afe Suiear = g1 ot fopeft ot vaeit &1 il =€) v el 9 St &
SIRIBR FT HaTd & o Sugar o AT gg-a & ¢ St 39! 9ugE & 0l 317 3§ gHHER BT 3ST6RY & AHd ¢ Sl BH Io- diadT & a1 98 AT oY
T T WS 918 PR 1 TAGRR FIoTs 397 a1 Hed Al | Fireiiae o dgg 91 901 9913 § 1 $O a1 Uga iemad! T3a! aa & e arel gicdt - &t
ARt s a1 g1t afe e Baft faseft goeR A Riera o= #it feurwa o ehll ot gea A smuw! SuwT gafaeR € ST usT ghm | afg A wft R
AHR Fran BN o STUs) ua i % 2 A e e @ §R Bt sargrer A wfear €1 €1 uet 9w Y T A Rrer aren @ of wfear siedt @1 g 81 uRa
W frarae, SroERY, SRR, BH 7o, i1fd B R R IE 21 1960 & 39F A YR § TS Siicier 19 5T A1 1970 & I 7@ SUNITT gt
Faa Nfésa Rea AR e T a6 § @fa o411 AfF= gra & aul § Susiedr GreH) Y Ton § I & o smr |

fasparail ok JaT werarsi @ @ & ga-t arfte g A i Sweitedrai & Ui St AT I3 F Ryar 3R FIE IRaT 16T 7241 UT1 FS aul b A9 HUY F 9Ig
IWHR DI gHB] W A4 & ol T g1 veT 3R 39t uivura & w0 § 1986 F thogae Weew Uae (SIURT) B aF a1 71| T Iutiledr ©) 5l Sag &
TR F WE STFPR UA &1 ARG R giar 81 3| TR B 8 il fbell Iwure & U W saydl $iv gren & ar § SHar &1 sifvard a9 81 98l aen @ Susitean
B! foxlt 1t Saure ot wteR & ford SR fiofa A & weq et 21 et oft Sourg & S W siftrean gewr geu forem aft aifvard giar 21 afe o1 gorer
THAR & 3iftren aret Bear & o SuHITr SuPt R B Godr g1 TP Iudiiar @ fafis el # @ o @1 iR gar ¢ wig o} fshar $ad te € wis
U &) BT TPHaT 21 IV 3T UEP B! S fabeq 37§ 1 59 ARPR o Wi 3 & fFare .3 S & ofd oy fFar s g1

SR fod T TR B TgH R I T U= 1 S«ik Ia13¢]
w1 el Seure & O W wn e sifvard g €2

1. I B! Gl

2. IdIE BT

3. YA &1 Ura

4, BT G G

Correct Answer :-

o SBIH G T

25) {3t IauTe #1 3T HXP ITHIET W ToR § YrfieR a4 SIrar 21 afe Susiear Tt g1 < fpedt off vt &1 e =€) €1 wIet 9@ Suvlen &
SRIPR BT Hard § df Suwiaar 31 IR ga-fia & o sl | sae! gusm & Rl 31y 37 gHMeR BT IS0 @ Yod § off BH o diadT 8 91 98 SH ot
3T U W IS 918 el 81 TIekR 6Ts Sum a1d o= Are § frarae ovd dgg a1 901 914 €1 $ a9 ved fremad! wRat aa J Haq ardt giwd am &t
durdt smue arg gRft afe s waft faseft goreR @ Rema s 3t ftared ot §rft d aga & snus! SueT gaiagR &t Samr ust ghmi afg s saft g7 &
WHR foraT N At STast wat i 1% ¢ | e ek @m 6 Bt sararer il wfean B €1 wet 9w Y 8 A Rrer aren @ o wfear st @1 g 81 Uk
¥ fireiTae, STATESEY, STARER, $9 g6, g & R WRT I 21 1960 F &6 A YR § SUHIEET SHigie T3 8¢ A1 1970 F U6 I IUHIET Sigra
Had fdPpd forEa iR yei-t @ & & Wi uT) A6 g1 & aul A SuHiear Gre-l Bt Fen § Ish & o gl

fasparail 3R Jar werarsit & @i ¥ gaeit aiftre sragfd At fb guviiarsit & urT st simarst I8 & Riar ok B wvar 7Y @ 4T &% aul & |9 Wl b arg
WHR B gHB W A1 & R Tl g1 ver SR 393! ulkufa & w0 d 1986 § drogar Mew Yo (HIWRT) B ar faar a1 ge Iuvitedr &) il Sarg &
TR UE TR UA BT AReR g 21 3 38 B © il fbell 3wre & U W faudl 3R TRaf & R § Seart &1 afvard sra 8 1 gl e & Susiter
w1 fxlt ot Saure ot wien & ford S fAfa o= & wag e 21 ot oft Serg & B9 W siftrean gewr geu forgm ot sifvard giar 81 1t o1 gorer
THARY & aif¥re aret Bar & oY ST 3P RrpTad % GHhar &1 TP Il B i e § @ 3o o7 fteR gt g1 w18 o} fashar Fad we § ais
=T Y B2 WPHaT £ 1 S U UeP &I 3 [abeq 1 Bl 39 ARPR B Wl T8 & RPare a7 S & wid oy far sran g1

FHUR 30 g TRriE B uge? HR U ¢ uR a1 SwR eaqisy|
UT: URA § SUHIET SHigia 5 g3r@ & I ge 32

1. 1980

2. 1960

3. 1950

4. 1970

Correct Answer :-

« 1960

26) T Saure @1 3w P IuHir Wi aeR § WifieR o STrar 21 afe Susiaar 8 g1 ot fbedt it vt o1 arf@rea =€) €11 el a0 Sule &
SHRIPR BT FaTd € ot ST #1 R ga-iia € ot sl | 3ae! augm & i 3y 39 gHMeR BT ISEUl & Yod & il BH ol diadT 8 91 98 BF St
3T 3% W S a1 B 1 TEeR fireTs Su ardt sl A # frdmae o agg a1 99T a9 §1 50 9l vgd framadt aet aa § hem ardt gl A @
A st arg gt afe oM T fslt geTIeR @ e F37 7t feured ot ghft @ 9eq § Ut SUeT gideR € ST UST 8RNI AR} s St g &
TqER ForaT § at STU) vt §1 i 3 A e ara @ 9 9t srerer I wfear @1 €1 wet 9o Y U A frer aren @ of wfean st o1 et 81 Wk
Y fireiTae, SIAEIRT, SHIER, $ ae, i B R WHRT € 21 1960 F o6 A YRd § Susiiear e I3 g€ A1 1970 F U6 dF SUHIET g
Pad Afdepd @ iR yei-t T d& &t Wi u11 AP e & aul A SuHiear Sre-l @t I § Ish & I Mgl

frpareii ok Tar werarsi @ @Rl § ga-t siltre sRigl &t fr Suvitedrell & U oraeh Sirarel I3 & Ryar 3R B =T el 7= 4T $S a6l & od GuY b 4G
WHR DY gD W A F o TR 41 w1 iR 53t ulkurar & 0 § 1986 F hogwe Meew Vo (HIWRT) B ar fbar 11| T Iusitedr o il Sarg &
IR TE TAPR T FT SAfBR a1 @1 3 T B § i {5l e & U W @yl ok Re & aR ¥ SRt &1 ifard sra & 1 9t TEen & Iusiten
B! {5l ft Faure At Tt & ford 3R fiofa a7 # wee fradt 21 fadt oft seure & S0 W aiftrean gewr g forem oft aiffrard gar 21 aft i gormer
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wHIRY & 3ifire arel Bear & oY Suiar Suw! Ribrad # a@ar 21 Te e @ fifie e § @ g o1 sifter gar 81 w1 o} feshar Faa we & wis
U3 TEY B WHdT 81 I YA UEH F1 $ fAwey a1 g1 30 ARPGR HY AiFuieh T & fars a1 S F o ary fsar smar g

SR 8 T T B UgHe TR g T U= BT Sk IaT3u|
WH: 1A & qul & Suiiear GieH! @Y e | sl & @ s g2
1. fiRIge

2. 1

3. Sl

4. 381d

Correct Answer :-

27) T Saure &1 3w X IuHIT W TeR § YIiieR o Srar 21 afe SuHiear = g1 ot fopeft ot vvaeit &1 i =€) €| el d Syl &
SRS BT T § dl SUiiaar 1 Rl g €t ot Wil | 3us! Tuge & ol 377 39 gHHER BT ISTE0 & AFd & ol B goi diadT & 91 98 HH- it
ST U TR IS 918 PRl &1 TUTER fYoTs 39+ a1d $=d |ie § firarae o dgg 91 901 99 ¢ 1 $9 991 ygd fHenad! Wt da Q Haq ardt giwd =9 #t
Hurdt smut arg gRt afg s wft frelt g@Ter A Riema w37 Bt fwed o g1t dt 9ed & syt IuwT gfagr & Saen usT g Al oea Wt 3 |
T a1 ghm ot smue uan g i 39 A e ara @@ ¥R 3t surgrer S afean 81t &1 gt 9o 3 8 & R arar @ o witar siferdt @1 @ar 81 uRa
W fireiae, SroTaIRl, SHTER, H9 To, i B W WOlT € 21 1960 F gud A YR § SUHiaT Sfigha T gU A1 1970 F GU® db SUHIGT iigia
Faa snféepd forem 3R wexi+t e ae € iftra ur) A= grer & ol § Sudiear GweHi Bt G | delt | IuTe o g

fasparail ok Jar werars & i & ga-t aiftrew erRigid it fF IusitadTell & URT Sl SmaTe ST & Ryar iR IS IR 18T T o471 FF I8 & G F 919
PR P 3TH] T A & o TIfra g1 vsT iR 3991 ufvuifa & 0 & 1986 # Hogrr WieaRT Tae (HIURT) $I AN fhaT 71| T SN B fhdl Saie &
AR # 8 ST U @1 ReR gar 81 o T B & o fealt Sarg & Yo W el 3R gRan b o & Weert &A1 Sifard g €1 9d) gEen @ Suvier
o1 frxdt oft Saure ot witeR & Rl 3 fAofa @ & weq frerd 81 ot oft Seug & 89 W siftroman gew gea foram oft sifvrard gtar 21 afe #1g gomer
THaR & 3ifiren aret Bar & oY SuHiTar SuS! R % godl 21 TP Iuiedr @) i el § @ g7 @1 aifter gar ¢ wig o} fshar $ad te & wis
=1 &Y B WHal B 1 I 3T UEP Bl T [abed 37 il | 590 SRR Y Hikiuicl 28 & fQeme s S & wivd oy far sien g1

SR &3 T TR B UeHR - U Y U= T Swik 9a13¢|

U GHFER I SHB! RIGTId T W SATUDT IASHT T AT UST 512
1. QU SAUH

2. GHAER

3. delt g

4, dieft araf

Correct Answer :-

28) el SauTe ®1 SRHTE BYP SUHIET Wt IR # YITHGR & ST 21 afe Iuitaar 78 g1 o Tt ot vaeit o @i =1t €| oigt oo Suwilear &
SHfRIPTR BT TaTd € |t STUITT Bt fRUfS ga-iia € ot sl | gae! augm & i 310 39 HHER BT ISEUl & TEd & i BH goi diadl 8 91 a8 BA St
ST % W S a1 B 21 SRR feTs S99 ardt o=l Ara # firdrae o3 dgg a1 901 99 §1 59 9l vgd framadt aet a9 A e aredt giwht am
AR MUY A1g gt afe smum waft fohelt gopeR & Rrerad &= ot feurwa o ghll o 9ga & STuS! IUHT gdeR & ST UsT ghn | af omus dft e &
THR foraT §RI oY STUhT Ut 1 % 3 A e ara @m 119 &t warerar i wfear @1 €1 ust 9w & U & s aren @ o wfea sifedt &1 At 81 WRa
Y fhreiTae, BIAENRT, SHRGR, $ gu, 1S B R WRT 6 81 1960 F %1 J YR § ST i T2 5Y 41 1970 F 2 T SUHIST g
Faq i ferad SR yeRl- o b & Wi 411 A g1a F aut & Iuviear Aire-l @ we & I & IoTd ST §l

frsparait ok Tar werarei & i § ga-t aiftre eRigiY ot fF IusitadTell U o=l SmaTe Io™ & RaT iR g IR TET T4 471 FE I F 7 G F 919
PR B THST W A7 F o TR g1 veT iR 5373 uRufe & =0 § 1986 T oguR MReN Ve ($1WRT) B ar 541 111 T Iusitet o1 {6t Sang &
TR T & TSR U BT SRR grar 81 3@ T B & o) [t Saure & 3 W sraydl 3R geen & T § IHaRY 31 Sfard g €1 gt g § Susiter
B {5t ot TauTe &t Witea & ol 3fera fAvfa a & wee firadt #1 fdt oft Seue & 8o W siftrean Qe gwa o ot aifrard giar 21 afe #ig gorer
THIRM F 3ifire =l Har § |t STl SHS! Rierad B Thdl § 1 U Sukiedr ot Al fdeel & @ 7o &1 ifirer gar 81 ®1S o} fathar Saw te & wis
U &Y BT THaT T 1 S U TED I S [abeq &1 1T | 5 ARIPR B WHITel T8 & fRYaTe a7 S & wivd oy fvar s g1

SR A T = P IgHT A I T WA $T I« 9zl

T ¢ B Ry arelt @m-1 arelt saTereR dwl 3 ures St g 32
1. gfear

2. dfgdl

3. 3PV

4. 9

Correct Answer :-
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. gfear

29) &<l IauTe ST 3T P ITHIT W TeR F UTTieR o ST 21 afe Suiear =t g1 ot fopeft ot vaeit &1 il =€) v el 9 St &
SIRIBR FT HaTd & o Sugar o AT gg-a & ¢ St 39! 9ugE & 0l 317 3§ gHHER BT 3ST6RY & AHd ¢ Sl BH Io- diadT & a1 98 AT oY
T T WS 918 PR 1 TAGRR FIoTs 397 a1 Hed Al | Fireiiae o dgg 91 901 9913 § 1 $O a1 Uga iemad! T3a! aa & e arel gicdt - &t
ARt s a1 g1t afe e Baft faseft goeR A Riera o= #it feurwa o ehll ot gea A smuw! SuwT gafaeR € ST usT ghm | afg A wft R
AHR Fran BN o STUs) ua i % 2 A e e @ §R Bt sargrer A wfear €1 €1 uet 9w Y T A Rrer aren @ of wfear siedt @1 g 81 uRa
W frarae, SroERY, SRR, BH 7o, i1fd B R R IE 21 1960 & 39F A YR § TS Siicier 19 5T A1 1970 & I 7@ SUNITT gt
Faa Nfésa Rea AR e T a6 § @fa o411 AfF= gra & aul § Susiedr GreH) Y Ton § I & o smr |

fasparail ok JaT werarsi @ @ & ga-t arfte g A i Sweitedrai & Ui St AT I3 F Ryar 3R FIE IRaT 16T 7241 UT1 FS aul b A9 HUY F 9Ig
IWHR DI gHB] W A4 & ol T g1 veT 3R 39t uivura & w0 § 1986 F thogae Weew Uae (SIURT) B aF a1 71| T Iutiledr ©) 5l Sag &
TR F WE STFPR UA &1 ARG R giar 81 3| TR B 8 il fbell Iwure & U W saydl $iv gren & ar § SHar &1 sifvard a9 81 98l aen @ Susitean
B! foxlt 1t Saure ot wteR & ford SR fiofa A & weq et 21 et oft Sourg & S W siftrean gewr geu forem aft aifvard giar 21 afe o1 gorer
THAR & 3iftren aret Bear & o SuHITr SuPt R B Godr g1 TP Iudiiar @ fafis el # @ o @1 iR gar ¢ wig o} fshar $ad te € wis
U &) BT TPHaT 21 IV 3T UEP B! S fabeq 37§ 1 59 ARPR o Wi 3 & fFare .3 S & ofd oy fFar s g1

SR fod T TR B TgH R I T U= 1 S«ik Ia13¢]

u: forRit IeuTe o1 SHATE FR ST SR § T S I 82
1. HfiGR

2. [ MHGR

3. @laaR

4. GBMER

Correct Answer :-

« YRiER

30) ol IauTe ®1 3T HXP ITHIET W TR F YrfieR a4 SIrar 21 afe Susiear 7t g1 < fpedt off vt &1 e =€) €1 wIef 9@ Suvlen &
SRIPR BT Hard § df Suwiaar 31 IR ga-fia & o sl | sae! gusm & Rl 31y 37 gHMeR BT IS0 @ Yod § off BH o diadT 8 91 98 SH ot
3T U W IS 918 el 81 TIekR 6Ts Sum a1d o= Are § frarae ovd dgg a1 901 914 €1 $ a9 ved fremad! wRat aa J Haq ardt giwd am &t
durdt smue arg gRft afe s waft faseft goreR @ Rema s 3t ftared ot §rft d aga & snus! SueT gaiagR &t Samr ust ghmi afg s saft g7 &
WHR foraT N At STast wat i 1% ¢ | e ek @m 6 Bt sararer il wfean B €1 wet 9w Y 8 A Rrer aren @ o wfear st @1 g 81 Uk
¥ fireiTae, STATESEY, STARER, $9 g6, g & R WRT I 21 1960 F &6 A YR § SUHIEET SHigie T3 8¢ A1 1970 F U6 I IUHIET Sigra
Had fdPpd forEa iR yei-t @ & & Wi uT) A6 g1 & aul A SuHiear Gre-l Bt Fen § Ish & o gl

fasparail 3R Jar werarsit & @i ¥ gaeit aiftre sragfd At fb guviiarsit & urT st simarst I8 & Riar ok B wvar 7Y @ 4T &% aul & |9 Wl b arg
WHR B gHB W A1 & R Tl g1 ver SR 393! ulkufa & w0 d 1986 § drogar Mew Yo (HIWRT) B ar faar a1 ge Iuvitedr &) il Sarg &
TR UE TR UA BT AReR g 21 3 38 B © il fbell 3wre & U W faudl 3R TRaf & R § Seart &1 afvard sra 8 1 gl e & Susiter
w1 fxlt ot Saure ot wien & ford S fAfa o= & wag e 21 ot oft Serg & B9 W siftrean gewr geu forgm ot sifvard giar 81 1t o1 gorer
THARY & aif¥re aret Bar & oY ST 3P RrpTad % GHhar &1 TP Il B i e § @ 3o o7 fteR gt g1 w18 o} fashar Fad we § ais
=T Y B2 WPHaT £ 1 S U UeP &I 3 [abeq 1 Bl 39 ARPR B Wl T8 & RPare a7 S & wid oy far sran g1

FHUR 30 g TRriE B uge? HR U ¢ uR a1 SwR eaqisy|

w=: e e @ Swita & fwh oft Sae B wfien $ Rl i fofa 49 § neg fredd @2
1. 951 Ui

2. 981 flie

3. g g

4. gl g

Correct Answer i-

. gl gar

Topic:- General Sanskrit(L2GS)
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Selichl TfScdT 3eilced URe g idehedel A -
TSIl QT STafell TaYH , WISl &I 87191 TaHUSH |
eIfateT: fob o AT a1, &fiom Sfer fseheo stafed ||
TAs T FeT FeTATTeIaToN Fe7fardr 4q qgor wfed |
T Fellell AT o7 AT ehaA o] FATR o ||

geTiarcT: fHer: vad 7 Wied |
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TR=de ufdcar UeaEd %olssagcdi qaAqd -

FCAAIGAATAIIET Sled ¢t dH Tohedleq TAREER 3787dd| 31T TUar
qifdeh: STEAUT: 3UGh: T I dled HoAAG: HEpAUTSATATH
US| dded yrIiaeafdedrerard .. 3uifel JEicdr 3fedmde: 37e7dd|
Heled¥H 3IH 3Taadl A& J[glcar Hglel GFUIGeh:, dldkehler:, 3TEU:
SIYOTehcll T 3767dcl| STRCATT-TERd: L&A 3l FETeIT: IRV feo
faeafdearery:’ sfd AT Hed: TEARTET TAUAT Hadeil dar & €
U 6T GEACEI UUH: FeAUld: IeTAc| SiauAdsieeo] AT
Fledaaearr ufdse:  3fead| 348 AACaRT:, #ARCRE:  GeEIdnr:
U #erd:, Hoaderdl, FHTNUhdl o | 37c: foAd T RARY
AqY 3T VAT A FEIHAT Mol HATCHT - FeISodTddedH
ATA] I 3T ARCIIEAElleTarar: qXA: gHgE: HHad Juny
T AMHHRN: AR STl T AADCHT 3T TEHFATH  HPds]
Qe dH IY 3Tl UTellhAITS| Wiy sRUTdigdehdl gasadl Imid,
SAuGigdedl UMATET cdsadi WSl | UATER: Td Gelsl: aAdT 37l
%ﬁ?ﬂF{ AT |

o

Telcdl- S 31 oI Tdid-

, A,
2. j
3. ji -

, Fe

Correct Answer :-
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geliehl Ufdcar areNecd s %lgfaehot)d gaA -

TSI §TITHT STefel! T , Wil &Il 87Tl TaHUSH |
JeIfaraT: %FFTW%W &TTOTT ST foTseneoT $1afed ||

FAsf FgT FeraATTeIfaron ge1fardr =a qor wfed |
na'fsmfrn SAGATHECAT o ATThHA 0T FATI o ||

Td o AhAT AR e |

HIET:

1. 2
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IiRTee Iidcdl AT Y& JaId -
UrdlcTehiel BT IR IE aHied TH | ddd AT Pdied TH | W:
T&Fel: Bfd HeA | UTIATAETOT TIAer: Jehel Tafd T | 37: 5T
T UrEler feToraEla: Sia aeg QoA UST UG dgehreld, TiEET
31 | TTepel IRUH Td AT BTl Irerdfd |

ATATCFISIARUIIGT:  3UAYY UG Fied | TAIOT g
facameare: aredie: Tepel 3T 0 g UG TT | HGEIRA
?ﬂFQﬁfafﬁ?Iﬁﬁ AT ﬁ?ﬂﬂ§?a5$a7: facarear: AHad fd ad SeA: |
Td HAGAY 34 Tgid: TrAGIEd |

TEhel AT JSTARAGIATH 318U Pdlod | AT TE IRpelaareiie]
AMEPIE, 3cUGdied | Wid: A& T delesd Pdied | IRUcaAT: HRA
Fafed | SET: TEAYETTOlEATAG o] W‘rﬁﬁ TGIAT Fdled | O
agaﬂ‘r‘l??r M 37=d G0N IR gafd |

mﬁgﬁmﬁsfﬁ qgd: Iohol: a’c.'enﬁﬁl?[ AT Ted | 37 URIATAY:

TE IR AN AAAGIAT AdTATATTATATH  3TEAIAHAT o7afd | foho

FIDEE mﬁémqugbgo& BT ool qlfed EATIRRT FaEdigsd: 3N

Uredfed |

TR ATOT 3TfEA THAY < -
| TETIATHA
| HETTAd
., 3T

Correct Answer :-

eI

? ey __ e 3G |
. Bcd
SHSTIH

2. B
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Yol UfSear STeNfaiéseed Teeed qgHccl AT -

faafe diFemsaed &7AT Tl arerugar Ifer fasha: |
T =feraedas At upfafagiae & Fgrca=e ||

| AN l
ERCIED MG IRIE] Isafed Sedd: |

JEAT dod daded adel &l GRadT |l

ATEAT HAgTeH=T: 3ifasfa: safa |

gt

Correct Answer :-

. Uchel&T
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9)

ol afScar srenfaféseer ueaey %Olagagcdi I -~

faufe eimemsged &7AT Tl arerugar Ifer fasha: |

IR ArfEreTaedae At upfafs i@ fe sgrcseire ||
rIareraveraT ad Isafed Sead: |

dEATd ded aorded adel &l GRgar |l

FFITH AT Ucdd: Hald|

Selleht TfScar seflecd WRel g idehedsl I -
Tl §TETAT STefedl TAYH , WG &1L 87191 TaHUSH |
efaIcT: foh o1 HUT o1, &ffom Sfeir fevseheoT srafe |

FeisTu et FeTATHeIfAToN Je7fardr «fa qgor wRfed |
TT Frelloll cTHATHECT o wirdhe 107 FATR o ||

HIRANOT 37T 37T TAT: |
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Correct Answer :-

FHUNI:

IS IfScal T YGHcR FIdd -

qrefieehlel ST IR I aied €A | ddd A Pdled T
Tepel: Fid FLIA | ITCIITASTOT UIGLT: T¥pel ST T | 37cT: TIHA
Thr e fRrerorgfa: sfa g@d edA:l T ugfd: dedrend IRaeT
AT | TPl Tl TT ATAT BT IrerAid |

ATATFIIARUACY: UMY UG Hied | TAIO  ATHAAT:
fgeameare: aredle: Tepel 3TEAA S J UEE TT | HEHRA
AGIIUTAIRT: FHAT Hoorpeordl: [dedmedre: 307ad 5id ad e |
Tq Hé‘{ljlgr T Ugha: Clﬁf@Tﬁ?Ef I

eehol STAT: AGTARAGIATH 36ATH Hdlod | AT FE Iheilairiie]
AMEPIGI Sculedied | Wid: A o dlclesd Pdiod | I WG
Fdlod | Bl TETIEITTAATAGAGI o EIhrATOT FaTAG Pdled | SIAT:
SEANIUT 3N 3 IBGIATVN IR Gafd |

o]

3MMeIfelchehlels [T Sgd: Iehell: AGAEAGI IEATIATed | 3 WA Taud:

9

g dIUIchiJc:-:aldlI‘-'I(‘lICl~2’1Icr'IIC\I¢J"II O'ldIO'iId'GHJIO'IIJ-I RAAANT s1afd | %

WIGLN: MEfAhadhel BT el THIec EATIHIRT FAEAIReT: Ml
qrodied |

ool Al 3 o7afd TH -

eIT3IT
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Correct Answer :-

. alﬁqfan

L=

golloh! UfScar refafeseeT ueaey %olxgdj)cdi T -~

faufe iFameged &TAT Fe & arerugar i fasha: |
F e =TI A upfdfigiae fg #grcaeey ||

o \ [ e
ERCIEREHAGEEEE] Tfed STead: |

dTHAId dod dFded adsl &l GRgdT |l

AT gUe sad |
Gletar
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IRTSE ISl JeeTe T Y&HAcR FIId -

STeleTehiel BT IR I aWfed T | A AT Pdfed TH | E:
Teher: 5fd ®LAT | UrATAETOT Yrer: JRpel AT T | 3 SUH
ThT e fgroragfa: sfa aed e v ugfa: dewrend ufaer
AT | I¥pel T¥Ucel T HAldd BT Ierafd |

ATATCFIIANARUAGT:  3UATY  UHer: Fled | THAIO  Faher:
feameare: aredish: Tepel T A g UG TT | HEHRA
AGITUTAIR: FHAY Hovrpeordl: fdeamea: 3e7ad sfd ad Seia: |
T HAGAY 54 Ugid: TEGIEd |

Tehel BT ACIRIEAGIATH 318UTH Sdled | AT T Tehoilaraio]
UhIGe], 3cUiGdfed | UId: 9 I Jiglgd fi;élr-:d | IRTAT: T
Fdfed | BET: TETIETTlAEAAG o] TIhAN0T FGIAT Fafod | BIT:
Sgauiior 3Tl 3ied JRETT IR Gafd |

m%ﬁ**n&sfﬁ Jgd: ol dGATEAGT, AT Ted | 37T UrdiATaud:
e VTN O dAAGIAT AdIATATATATH SEATIAATT o7dfd | oo
UTILT: MY fcAehifehel BT J¥pel dHiecd ITEATIRRT FTATAGeY: 3T

qrodied |

3MeJfoleheplel IR: $: 3T UTSATedT -

o STIAHAIT
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ReIhl IfScaT 3relleed URe UgTashedsl FIA -

TSI §IEITCT STefetl T , WS &I 8719l TaAUSH |
eIfeter: fob o1 A aTd, &fiom SfeT feseheo stafed ||
qeAsTU fegT FHITATTATEON JoIfarcr sia qor TR |
T Frellell CAHATHST o ArdhATor FHAT e ||

N

Td fseheum: siafed |

HATAT SR L0T-dgd g
e

3.

o]
4

Correct Answer :-

AT ERI0T-dgdITg:
e
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TRTde fScar YT EHc JaId -

HACAHAGAATCAIIET Sled 8¢9t dH fohEdled UAEHAIR 3187dd | 31ET TUdr
ATffeh: SEAUT: 3UCHd: ° M| FMed HeoTHAIgel: HEHAUTGATCATH
US| dded YAmEIdeafdedrerdrd dl.T. 3Ufe J[Elcar 3fedrdaeh: 37e7dd|
IefecRe, 31IH 3TAA & IEIcar Aglel FFUIGh:, dTeFehlel:, 3TeIUa:
HIYUTehdT o 3187l STAII-HEpd: T&TLH 38T HEIET: aRIVIE ferq
faeafaearer:’ sfd A= #Agd: HEAWTET AU Hdiell dar @ 378
T IFT TEET YUH: Fodfd: el Hfdqadvieleal AHATed:
PEIEEEART fdse:  3re7ac| 3@l Ao, SARARREE e
UNE: STFCT:, Fcdadkdl, YOOIl T | 3icT: Merda iEeremdy
AQY 3T IUEAT  3eTad| FHelcAT Ieell Hleldid T ASSHTIdeTH,
IATAT| YSITT 3T AR Tdrdr: Oe:  gHIH:  Had Ty
T AR AR SeAl: T FHBGHT 3T FTEAFHAAH 3P
?PRYE TH aY 3Gl UTellhHAITSd| Wileh eRUldigdehdl gasadl iid,
UG gdhdl UMATET cdsacl WAl UATEer: Td geofel: aid 37l
HHATA AT |

goaidealdeaTer ey TATYAET HeAS: -

. TAEIEUTH,
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eoliehl gfScdr renfafesesy veaed Ygacal YA —

faafe eRiaremsedr aAT T areragar Ifer fashar: |
TR TfAeTIeds Al Tpfafagiae & Fgreaea |
TrgaTeFaveme dd qofed Sodd: |

dEATd dGd dorded adel &l GRgdT |l

faufe &Rie 3re uepfd: erafd|

1. EQ ‘

. FEICHeT:
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TRTde afecal Taed YA Jadd -

HACAHIGAATCAIIET Sled 8¢t dH fohEdles UANTIR 3| & TUdr
aifdeh: STEAUT: Iuceh: T M| led HeoAHGT: HEhAUTGATCITH
US| dded YARIaeafdedredd o.T. 3Uife [glcar 37edmeh: 3f87ad|
efeaRe, 31IH 3TAal e IEIcar Hglel TFUIch:, dlerehlel:, 3feIUa:
HIYOThAl o 37e7ac| $TRATI-EEpd: L&A 3Tl HGIeT: aRIuET 'feog
faeafdcarer:’ sfd AT HEd: HEAGTET TAUAT SHdell dar @ 34t
g d&d TEAEET  TUe: Hergic:  3TeTad]| HIdITaSTededl ATATId
PCAAEEAAT gfdse:  3refac| 3@ HAeaRT:, SARA™EE  GeEadr:
H: HFd:, Fcgderdl, FIUIhdl T 3| 3cT: MerdAT HTIRAR—Y
AQY 3T IUEAT Il FEIHAT IeEl HTHT | TS ASSHTI o
AT IS 3 ARCAIEATEN AT GH: FAAS: M quiy
3MTCT: QAR ST Sfal: T AADIHT 3T TEHFATH e
PR¥E TH TN 3 WellhHAI=Sd| dih sRUTdigdehdl gasadr Iifd,
AU Edehdl Tfaey edsadi WAl TATERT: Tq GeofeT: =AdT 3MTEId
AT AT |

AT Cglecd: 3T1EHe] a¥ HH-

2%l
5, §]8Y
5, 3R¥8

4 T8¥0

Correct Answer :-

. T’ys

22)
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IR afScdr TeaEd Ygdca AT -

HACAAGAATIAIIET Slod ¢¢yt TH Tohedles TATTIR 3187 | 36T TUar
aifdeh: SEAU: 3UCh: W Il Sled HooTHIge: HEhAUTGLAATH
US| I YARIdRafdedrerdrd d1.T€. 3uifel J[gicdr 3fedrdeh: 3f7dd |
3efeaR#, 3TIH ITAcl TG IEIcar #Hglel TFIIch:, dleFehlel:, 3TelUa:
HIYUThll o 378Tacl| $TRCII-TEhcl: T&THH 31dHl HETHNT: aRIvEAT e
faeafaearerd:’ sfd A= #Agd: HEAWTET AT hadlell dal @ 378
Td T GEAAET YAH: Folafd: 3eTddl Hfduadsiedeal AATCrdT:
FEIGHEAT Ufdse:  fHad| 7T [HAFeraRy:, ARARR:  geIdrr:
UTH: 87, HAGFAT, FoIIUTRAT T IMRAICAI 3 MoHT ITTARATY
AQY 3T IUGT A FEICHAT el ATl - TaedsosTddeds]
HATIA| I 31T ARCIIEAE T Oe: gAAG: 3fHdd auiy
T AR ARCAT: STAl: T FHBIHT 3T TEHFHIAH  37hael
ye, dH a¥ 3rHl WellhHITTSd| dlh eRUidfedehdl gasadl 3Irfd,
UGGl UIfIaed edsadl WISl | TATEer: T golel: oAl 3Tl
AT AT |

HCAAIGET STeHATATTH SeHEd-
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IRTSE IfScdl JeAHT YGHR FAAT -

releiehtel BT IR I aWied T | dHd AT Hdled TH | E:
Tepel: B HUAD | URNATASTOT Yrer: Jechel sTdid T | 3 $TH
T e faeroragfa: sfa geq erdee: v ugfa: dewrend uiaer
3T | TPl T¥TceAl TT Al BTN, TTerd e |

AAACHISIARUAGT: 3UAYY UE: Fled | TAIUT  Faeher:
faezmeamra: arcdle: T¥PHer 39ad 3fd J UG T | FAGERA
AGIITAIR: FHAY Hovrpeordl: fdedmeare: 3pEd 3fd ad S |
U?i'$ﬁf§?ﬁ§ 3T ugla: ufaeIfed |

Tehol BT JGRIEAGIATH 33U Pdfed | AT T Tohollvieie]
TGl 3cUGdfed | Uid: A I Jlelga ghé'l?d | TRAcT: e

AN [

Fdled | BHE: TETIETTCATAAG o FIPRINOT FGIAT Hdled | BT
Jgauor M 3ed TN IRT gafd |

MY fhehrersi™ Sga: JEhell: ISAEACT EATTAld | 317 TreiaAfaw:
TE MU AAINOTAIATATCIAT A TTAATH  3EAIAATT 7afcd | oo
IREIP ww ST cgbgw‘i qEfed AT FAEAIGeT: 3T
qredied |

OTdletehTel 3TETTAH 3T Hald T -

SIEIRIE
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TRTeE Iidcdl TeoTed YEHcR I -

UrdlcTehlel ST IR IE aWied TH | ddd AT Pdled TH | E:
TeFel: 3fd HeA | UTNATAGTOT T JRpel Safd TH | 3 3TH
T Ureller feToraela: Sfd ad ereelA:| UST UGfd: dgehrelid TiEET
38T | Topel T Td AT BT, Trerafd |

ATATCFISARUIAGT:  3UAYY UG Fied | TAIUT  Faeher:
fdezmeare: aredi: Tepel 3Tad sfd g UG TE | HEHRA
AGIUTER: HAT Hovrgeedn: fdeamsam: wed sfd g Selie: |
Td gAPNY 54 ggid: URASTRET |

Tehel ST dGTATEAGIAH A Pdfod | A TE IRpeilaraic]
ARG, 3cUIGdled | Uid: 9 I dilglgd ?él?d | U el
Fdiod | BMET: TEAYETTCIAEAAGI EGhAOT FGIAT Patoed | ST

agaﬂ‘rﬁr 3l 31ed Jreafaivn aNd gafd |
M feiehehrels [ Sga: J&hell: dGATEAGS ATl | 37 ATl iay:
TE IR IO AAGIAT AAATGTIAH 3EATAAT s7afd | b

F N AN

YTIRT: 3Tl’%ld°hdlb°b(’i EIR d‘lbghv\i J8fcd 3TEATTFRILT {-d'{-ddj_éﬂ-lli 3Tl

D D
UTedTed |

AT’ 37T 31T T~ |

¥
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eellehl Gfecar srenfafeteed Ty gl Fadd -

faufe eiaremsedr aAT Tl arerugar fer fasha: |
T S a0 Acil Tepfdrigioe & Helca=I ||
TrgaTeFavee dd q8fed Soda: |

JEAT ded dFded ad«l HT GRadT |l

g 37 glwl?d l

[ERR)

Correct Answer :-

4.

SelIht TfScdT 3ieileed WRe (G fdehodel Jdd -
Tl 8TENTAT STefeil TS , WG &I 87191 THUSH |
TR fol 7 Y ey, &ffom Sper v avafe |

JeAsT RieT FeTATTeIfaTon Je7fardr o¥a ot fed |
T Frellell cTHATHSAT o wArdha o] FATR e ||

SIITAT STl U cFoic |
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Correct Answer :-

I=REE

J -

27)

IRTSE UfScar URET YGHcN AT -

HACTAIGAATIAIIET SIedH <3t T Tohedles UATTAIR 37ac| 3T TUar
UTffeh: SEAU: 3UCeeH: T Il ded Heeldlgel: HEhdISATIRITH
US| JIdLT UARIdRafdeATerard 0. 3Urfel [alcal 3edTdeh: 3787ad |
3fefoc{#, 3TIH STacall fAeT IEIcar #Hglel TFUTGeh:, dleFehlel:, 3fefUa:
HIYUThIl o 377ac| $TRATI-EEpd: T8 3Tl HEreeT: aRIoren 'féog
faeafaearer:’ sfa s #gd: TEAET TACAT Hodell dal o 3746
Uq T AT YUH: Fodfd: A DfdUgasdeal ATATd:
HEHHHEAT gidse: 3(ead| 34 AR, ARAIR:  §gdan:
A SFc:, Fcgderdl, HATYUIhdl T 3R] 37: MerdT AARARIY
AQY 3T IV 3eTad| HelcAT Teell ATeldd  TaoASSHIIIeTH
HATAT| TSI 3 ARAIEAETdr: I gHdd: ad doanmy
3T ATHHR: SRAIT: STl T FADCHT T TEHFAAH P
Ry, gH a¥ I RolwEITTEd| A% sRUTAfedddT aasaar A,
SleAuG ecehdl UIMHaET easadl WAl TATEer: T gelel: aAdl 3R]
AT AT |

3ieNecdy A0 31 I[0T: FeoTHIGAATId Y AT

. TrHasEd:
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MEAH
. J ™

4

Correct Answer :-

29)

Q4T3+ +3T+5T43T 36T JUTHATSTTH -
., IT2AT=T

. STeITeT

,, T

5, AXcdedl

Correct Answer :-

Topic:- Mathematics (MAT)

1) 3c(a+ b)is a/an v
3ca+b)T®_____ Bl

1. algebraic equation / SSIIOTTE FHIHUT
2. monomial polynomial/Qﬁqﬂqa@tﬁ(r
3. binomial ponnomial/ﬁtﬁﬁqﬁ@ﬁr
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4. trinomial polynomial / i< sgug

Correct Answer :-

+ binomial polynomial / fGUE agug

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /

TR x-A @ RNgp P daga g s g &

IR Y BT U x-31ef P Bl o W Ra g, difigpa §:
1. Ordinate = 8 / BIic =8

2. Abscissa= 8§ or -8 / Yol = 8 3{dT -8

3. Abscissa = 8 / Y5 =8

4. Abscissa =-8 /Yo =-8

Correct Answer :-

+ Ordinate =8 /@I =8

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its heightis: /

Tfe e A ajel P BT ash YHT S 12320 97 At qUT SHS MUK BHiwar 56 A B, o gHST Hurs 8

1. 42 cm /42 94t
2. 24 cm /24 3
3. 40cm / 40 JIf

4,21 cm/21 99

Correct Answer :-

o 42 cm/ 429

4) What is predecessor of natural number 1? /
UIpd ST 1 B Ydadl WS T 82

1.2

2.1

3. no predecessor/ﬂﬁgqja?ﬁmqﬁ%

4.0

Correct Answer :-

« no predecessor / By WH@T TR

5) Which one of the following is not an objective of scholastic assessment? /
Frafafaa § @ S-w1 gl & geaie o1 te Sexa T8 82

1. Knowledge /T

2. Analysis / fazamor

3. Comprehension / JHY

4. Attitude / TFIGRI

Correct Answer :-

« Attitude / TEIGHRT
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6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TP T GAYS BT URATT 45 A4 ¥ 1 5HF U Yol B &ars fbasil 82

1. 9cm/ o3

2. 9.5 cm/9.5 9l

3. 7.5cm/7.5 9

4. 15cm/ 159t

Correct Answer :-

« 9cm/oTHl
7) z q_,5
If p=-2,q=3, and z= 2, then find the value of 54-# .
ztPa-paz
. Z4qd-2% .
e p=-2,q=3,7d z=2 & A f——— 1 A A B
> +Pa—Paz
9
. S
31
2. 2
1
3 5
4. 19

+ —_ =
x*—5x+6 x*—7x+12 x*—6x+8

1. (x-3)
2. (x-2)
3.0

4. (x-4)

Correct Answer :-

9
: The diagonals of a rectangle PQRS intersect at the point O. If

£POQ = 130° then LORS =?  /
3mIa PQRS & fa@ot vagar & fdg O X ufassfed o
g1 3fg £POQ = 130°, dF £ORS =?

S o R
1307
Q
300
1.
25¢
2.
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1300
3.

50°
4.

Correct Answer :-

25e
10) The area of sector of a circle of radius 10 cm and of angle 60°is o
10 Jeft FHear gor 60° FOT A W ded & Hed@s H aTAhe &l
Esqcml" Eaﬂ‘rﬂﬁ’r
6 6
1.
el sqem f Efﬁfﬂ?ﬁ
3 3
2.
? sqcm f ?a?’r B3
3.

4. 157 sqem/ 157 EuRs|

Correct Answer :-

157 157
e chm/Ta?Tw

1) Given two right angled triangles PQR and DEF ,such that £Q=30,
¢£D=30 and QP=DE write the comrespondence if triangles are congruent. /
& wFEeIT Feger PQR 3R DEFsH UR o aw §fF 2Q =30, 2D =30 3ik QP=DE
g1 afe Preier waleaH § df dedar Ad #

, ARQPAFED

, AQPREADFE

3. APQR2ADEF

, APQREAEDF

Correct Answer :-
APQRZAEDF

12) APQRis an isosceles triangle with PQ=PR. Altitudes RF and QG are drawn to the sides PQ and
PR from vertices R and Q If one altitude RF is 3 am and the base QR is 5cm then GR= o

APQR U TFejadrg Freyet 8. fored PQ=PR §1 efieial RF 3R QG e RUd Q¥
87T PQ 31 PR d e atar &1 3% veh efideig RF3 Joft § 3f amam QRS et
garcrR=__ |

1L4cem/49H

2.3 cm/3 9
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3.5cm/5 9
4.6 cm/69H

Correct Answer :-

« 4em/47H

13)

1.20

2.10

AD is a median of AABC and M is the midpoint of AD. Ifthe area of ABMD is 2.5 cm?, then the

area of AABCis ./

AABC &1 U& AT AD§ T AD &l #edfdg MRl afg ABMD &7 &3%e 2.5
¥ §, a1 AABC & atFme ___ R

cm? /20 §H?

em? / 10 ¥HR2

3.5 cm? /5 9P

4.25

cm2 /25 2

Correct Answer :-

- 10

em? /10 JHR

14)

2.24
3.35

4.30

1 s , . . .
Anu’s age is ;’d* of her mother’s age .If Anu’s age is 12 then mother’s age is /

31 T 3T IHHT AT KT IR F 13 {1 AR 37 AT IR 12 aF g.ar A A g

Correct Answer :-

- 36

15)

The length of two trains T1 and T2 are 620 m and 480 m respectively. The length of the freight

train T3 is twice the sum of T1 & T2. Find the time required by T3 to cover a post on the
distance

speed

platform if it has a speed of 20 m's. [time =

&Y 2T T1 ud T2 & s swaen 620 Hiex 3R 480 #Hiex &1 Areemsy T3 & oars
gt T1 Td T2 & ART &I QElal ol I s@ehr afd 20 AeXRFs &, aF T3 @RI W&
O T Uh URC I IR ol & [OIT O THET AT 2

1. 3 minute 10 seconds / 3 e 10 ¥H8

2. 1 minute 50 seconds / 1 fBE 50 Y&

3. 2 minutes 10 seconds /2 fAFE 10 HS

4, 2 minutes 40 seconds / 2 THFE 40 &€

Correct Answer :-

« 1 minute 50 seconds / 1 fiFe 50 ¥he

16)
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If P
Jx+ay+2 _
afg ===

Jx+y+2 _ 3x-y-1 _ z2t3viil

2

Jx-3-1 _

3

x=-2, et}
- 5
1.
x=1 y=-5
2
2.
1 3
X3
3. N
4. x=2,y=3

Correct Answer :-

17) If & and {3 are the zeroes of the polynomial x? — 5x + k,where a— = 1,thenk=_ ./
TG aTA B FEUG x* —5x +k & Yrdh ¢ MG a—f= 1§, dAk=__

1.
2.2
3.3

4.6

-6

Correct Answer :-

e 6

, then find the value of X and v.
x+1)'+1 %,Fﬁ' xTF v& AT AT F1

18)

Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure2 | Figure 3 Figure 4
Fully-filled 5 8 6 4
squares

Half-filled 7 _ 2 5
squares

More than half 4 4 ) 8

filled squares

Less than half 9 7 _ _

filled square

Find the figure with larger area. /

T arfereT & aforg amw ofic ) IR s T v §)

&hax fohar =T
a=x

HiehsT1

HTR3T2

HThsT3

3TehsT 4

T w9 H W
Go

[7]]

3 X Tat

th

3 & 3fden
Ay get

Y { FH W
qat

TG g5 &7 &7 3TehsT AT il

1. Figure 4 / 3i$3T 4

2. Figure 2 / 3ficv g1 2
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3. Figure 1/ 3fi 8T 1
4. Figure 3 / 331 3

Correct Answer :-
- Figure 4/ 3l gl 4

o 2 3_ 2
19) Find the value of 'K/, if X 2x+1 is a factor of 2T +x 14x® + 5k + 5. /

gy 2% + 2% — 1427 + 5k + by wew & — 20+ 1 §, G W @1 U 7 B3
-1

1.
2.2
3.1

4.3

Correct Answer :-

20) Find the missing number in the following pattern. /
Trraferaa ted A qu den 3 a3

-7 ,-1,5,__,17

1. 11

2.4

3.7

4.6

Correct Answer :-

- 11

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 ¥ qdadi 3R 9871 % wadl & dtwr 3R 1 FId BY

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-

» 88828

22) Find the GCD of 10, 20, and 30. /

10, 20 3fY 30 BT HETH YIUTSTP (GCD) T Y|

4.30

Correct Answer :-

¢ 10
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23) A scaled down teaching encounter is known as -/
Sradviie (s ers ) s waf % & ST AR
1. Macro teaching / J&d Ri&i0r (figh Affm)

2. Micro teaching / Y& FRI&TOT (ATgsh1 SIf<im)

3. Mastery teaching / T fRgor (ﬂ@ difeim)

4. Model teaching / Aiga Riefor (@rga ifm)

Correct Answer :-

« Micro teaching / G&H fRI&f0T (ATSsh1 SifeiT)

24) Postulates are assumptions specific to i
T, faftre & P SAYRUNG &1

1. trigonometry / [ECQNIEIG

2. algebra / UG

3. geometry /At

4. arithmetic / IO

Correct Answer :-

» geometry St

25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./
TEIRGA S AN EERA & GRT 3R SFIa Wy fam am ok ami
1. Al Kharkli / 3fef @Rl

2. Abil-Wefer / 3ffSd-3th

3. Omar Khayyam / SHY G&H

4. Al-Khwarizmi / 3A-GATRSHT

Correct Answer :-

« Al-Khwarizmi / 3@-GATNSH]

26) is the ability for a child of two years who is able to distinguish between more and less things when he/she is fit to consume food.

S 10 & I DI T & S HISH @1 ITHNT e & forg fibe 817 W ot ik o4 =wil & S sfaR @3 # Fam

gl

1. Understanding of notations / Hpad Bl THIH
2. Recognition of numbers / Waﬁq'ﬁﬁfﬁ

3. Recognition of notations / e P Ugdld
4. Innate number sense /WW@W

Correct Answer :-

« Innate number sense /WW@W

27) Rhombus is formed by joining the midpoints of the adjacent sides of a v
¥ Sred Yol ¥ wuafdgasi o Rram J wregyds s ar 21
1. Rectangle / 3Od

2. Parallelogram / THMIGR Igyst
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3. Rhombus / FHagyd
4. Kite / 9T

Correct Answer :-

« Rectangle / 3fad

28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /
7 TSI 61 AT 9o 45 fHur 81 39 | 6 P 9o 53 3, 45 5, 40 f5am, 37 fbam, 42 foom 9 50 5 ®1 73 9% 1 999 7 BRI

1. 42 kg / 42 famm
2. 48 kg / 48 T
3.45kg /45 fFm

4. 50 kg /50 fbum

Correct Answer :-

. 48 kg /48 fHUT

29) The degree of the polynomial (2x —8) + (8~ 2x): /

|E (x—-98)+(8-2x) e

1.1

30) The action verb for giving examples of different types of sets is

fafirT yoR & T=l & Serevur 33 & fore frarares fran

1. classifying / uffeor
2. comparing / &l

3, differentiating / ﬁﬂﬁ
4. listing / GEIBRUT

Correct Answer :-

» classifying / Fuifemear

31) The graph of the linear equation 2 +5yi= 10

Y& THIER 2x + 5y = 10 BT U6 UH 3@ @ St fig TR x-31g1 A rear 21

1.(0,2)
2.(1,2)
3.(5,0)
4.(2,9)

Correct Answer :-

is a line which meets the x-axis at the point
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32)
Which property is used to equate: /

Tt B & fore o orend o1 ST foba S &:

i.19 x 13 = 190 + 57

ii. (-34-53) + 23 =-34 +-30

1. i - Commutative property, ii - Associative property / i - SFHIAEY 0T, ii - TR 00
2. i - Distributive property, ii - Closure property / i - {dcRUITE® 10T, ii - FHTG 07

3. i- Commutative property, ii - Closure property / i - SFHITH 01, ii - THIGA 70T

4. i - Distributive property, ii - Associative property /1 - [EGRUIGIED L, i - W‘Tﬂ
Correct Answer :-

* i- Distributive property, ii - Associative property /i - [CRRUIEEED T, i - Hear qor

33) Choose the solution for the equation: x+9 = 12./
T x+9 = 12 & 5 BT IYT BY

1.3

2.4

3.2

4.6

Correct Answer :-

e 3

34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2 rounds of rope at the rate of Rs. 10 per metre.
Find the cost of fencing. /

TS & T 210 HR well 3R 165 Hie? A1) TP MUATHR d1a1a 21 98 10 T00 Uiy He? F1 7 F = &F 2 3R Y 598 918 1 I8l &1 918 9
ok iuckIGER]

1. Rs 15000/ 15000 394

2. Rs 7500 /7500 390

3. Rs 6930/ 6930 300

4. Rs 693000/ 693000 304

Correct Answer :-

« Rs 15000 /15000 ¥ud

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
Al y-o1ef A 0 fiig Bl g g 4 gorg 8, Mg e:

1.y coordinate 4 / y &R 4

2. x coordinate -4 / x FACRI® -4

3. x coordinate 4 / x FERI® 4

4. x coordinate 4 or -4 / x TSI 4 3rar 4

Correct Answer :-

« x coordinate 4 or -4 / x FIE=I® 4 3ryar -4
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36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

T TdD (-3,6),(0,3) T4 (3,0) T Y@ Flewur x T y A g €, df aefiavor g:
1. y=x-3

2, y=x+3

3. x+y=3

4. y+2x=0

Correct Answer :-

o xty=3

37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
I B o1 & d 71 ¥ et =i p2,0), Q(5,0) TE RG2) ®:

1. 25 units? / 25 HTI2

2. 6 units? / 6 BT

3. 4 units? / 4 3H1S?
4. 3 units? / 3 SHR2

Correct Answer :-

38) Which one of the following points does not lie on the line 2y = 5x-2? /
Frofafea 3 @ S fig¥ar 2y = sx2 R R @I 22

1.(0,-1)

2. (4,-11)

3.(-2,6)

4.(24)

Correct Answer :-

39) Which one of the following is not a teaching style? /
Frafafea & & o190 ve Rigor f =5 22

1. Scolding /I

2. Demonstration / U&=

3. Inquiry / Wil

4, Discovery / 39U

Correct Answer :-

« Scolding / e

40) Which one of the following statements is false about polynomial? /

FrafafEa § A SH-91 Hu ague & A6y sRTa 22
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1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x),
where degree of r(x) = degree of g(x). / TAHISH T & SFIHR, UISH SGUG p(x) I ST ST g(x) A [AHITT BT SITel &, Tl HRThS q(x) Td AW r(x) 39 TbR
& 1 p() = 9(x) g0 + r(x), T r(x) PT IR > g(x) FTAC I

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / 9Td 3 & I Ueb SgU< H IfUHdH 3 YT Bl Fbd gl
3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / I 2 % WIY TH SgUe A SHHaH 2 A EEEnE

4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). / Af¢ TP THIHRUI BT U x-3H&f BT &I fagail WRBEA g, Al
Tt 7 2 I (@) B B

Correct Answer :-

« According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) +
r(x), where degree of r(x) > degree of g(x). / QUGS UMY & SIYR, WIS §gUG p(x) T o1 HISTd g(x) & fauifera fasar wiman 8, o Hiea q(x) Td 29 r(x)
U UBR 1 § 5 p(x) = g(x) q(x) + r(x), ST r(x) BT I > g(x) FT 91 5

41) Abscissa is also known as the ./
Yol (YWIip) A i ST S g
1. X-axis / X - &

2. Point / feig

3. Ordinate / TS 378f

4. Y-axis / Y - &

Correct Answer :-

o X-axis / X - &

42) Visualizations and drawing conclusion is achieved through the study of )

B ARG HY & g & HIead I U fpar S 21
1. Analytical Geometry / AU SAIHTT

2. Spatial geometry /&1 St

3. Algebra / dorTforg

4, Arithmetic / 3BT

Correct Answer :-

« Spatial geometry /e A

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle. The area of circle is: / WS’E{@IE%WM [ 81
Ife 5P < BR TH WY SIS Ry 14 B, 1 98 g9 I 8 1 9 BT 4B &

1. 14 cm?/ 14352
2. 44 cm?/ 44 A2
3. 154 cm?/ 154 Jrf2
4. 28 cm? /28 Y2
Correct Answer :-

o 154 cm?/ 154 92

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits interchange their places. Then the unit digit of the
number is: /

< SIPIT HET P ST BT AN 5 1 TS TS A |V 9 TeTa1 SI7aT €, Y 3t 3 I uliafda 3 3 8, S a1 3918 o/ ©:
1.2

2.9
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3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circleis__ ./
Tf U g DY R TUT ATPd GIs SUA TS, g Bear__ #

1. 3 units / 3 SHTS

2. lunit/1 337'I'§

3.4 units/ 4 S'GFI%;

4, 2 units /2 Eﬂﬂﬁ

Correct Answer :-

o 2 units/ZWI'sf

46) “Let no one enter who is ignorant of mathematics” was statedby ./
«ATfora & AT BIs M AR W@ ARI_____ gRISST I AT

1. Thales / DI

2. Pythagoras / UIYTIRY

3. Enchid / T8

4. Plato /IiﬁE’f

Correct Answer :-

¢ Plato /ta—@[

47) The abscissa of the point of intersection of less than ogive and more than ogive is ./

mﬁfﬁuf(ogive) | w4 aur 1y fawof Hrwafmﬁgﬁ‘ﬂﬁ'(abscissa)_%l
1. Mode / 9gad

2. Mean /HIH
3. Median / H1&R®T
4. None of the abovc/mﬁ@ﬁgﬁ

Correct Answer :-

+ Median / AT

48) Find the odd one out. /
w1

1.<

2. =

3.0

4. #

Correct Answer :-
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49) Generalisation of Arithmetic is: /
BT BT HHTABRT :

1. Algebra/ EiSUIG

2. Probability /wifmar

3. Statistics / RSB

4. Calculus / Pepad

Correct Answer :-

« Algebra / SO

50) A single linear equation in two variables has: /
3R B T M TR g &

1. Maximum two solutions / 3{f&HdH & g

2. An unique solution / Y& GWE'FT

3. Infinitely many solutions / 3id §&

4. More than 2 but less than 4 solutions /&1 ¥ 3ife/d T 4 T HH B4

Correct Answer :-

« Infinitely many solutions / 3fd &

51) 'Let no one who is unacquainted with geometry enter here' is connected with ./
g Wt oafda ot sfafa & srfvfea 8, wei mamra®yr, 3 fvdfae

1. The Sophist School /e pd

2. The Platonic School /WW

3. The First Alexandrian School / Ug¢ll WW
4. The lonic School / &nﬁrﬁm@—d

Correct Answer :-

« The Platonic School /WW

52) Which of the following is considered as undefined term? /

frrafefed # 9 f$a sy ug | sirar @2
1. Point/ﬁ@,r

2. Quadrilateral /?@EIG{
3. Circle / 9d

4. Prime Number / 3{HTSH AT

Correct Answer :-

. Point/ﬁ'g,r

53) The author of Lilavathi was: /
wiaradt & aE® A

1. Brahmagupta / STl &l
2. Aryabhatta / GTFfHE'
3. Bhaskaracharya / HRSHRTER
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4. Ramanujan / THTIST

Correct Answer :-

» Bhaskaracharya / HRSRTE

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / Uf& P(3,-5) T Q(-3,-6) & farg &, ot Q & P-Hife 31 yr 8:

1.0

2.3

55) CANCELLED

In APQR, £P=90° and X is the mid- point of PR. The value of QR? — QX? is equal to \
{ APQR¥, +P=90° I PR FT ALAMEG X &1 QR® — QX* & AW = |

1. 2PX?
2.3PX*
3, 4PX*
4, PX?

Correct Answer :-

. 3PX?

56) 3Im6cm=7?/
3ticredM =2

1. 3600 cm /3600 Tt
2. 360 cm /360 T
3. 306 cm /306 T
4.30.6 cm/30.6 THI
Correct Answer :-

+ 306 cm/ 306 9!

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins Rs. 20., and finds that he has exactly what he
had in the beginning .What was the amount he originally had ? /

T 3gH! St YRIRT o1 Up-fieTs eR wrar 8, {6 10 $U Shiaar 2, 3P 91 R § SUST To-RAgTs §R ST €, 20 $ud Sfidar €, ofF SUd Uy S+ 81
YRR § Rorel ey & off | 39d U W R e o2

1.Rs.12/12%W0
2. Rs.24 /24308
3. Rs.48 /48 30
4. Rs.36/36 300
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Correct Answer :-

« Rs.48/48 308

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and the largest angle is. /

T FIYST & BT BT U 2: 3: 4 B, O TQ BT IR T 98 B101 & e BT 3R J1d DA

60°
L

400
5. 40

150
3.

0
4 20

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm, then its area is: /

TS U TH TTYS B YT 12 Gt B, Y ST AwT B
. 1562

, 256v2
5 216V3

. 1293

Correct Answer :-

2163

60)

Which one of the following expressions is false? /

Frafifed § & S19-91 v Tad 2?2

a)9999 <1000

b)1052<1025

€)958765>957865
1.Bothaand b/aTdb Ml
2. Only b/&adb

3. Bothband c/bWd cqHl

4. Onlya/®dda

Correct Answer :-

+ Bothaand b/auWdbaHl
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